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Topic:­ General Science
1)

Question Stimulus :­

Sodium & Potassium metal being very reactive are stored in________ / ऺख़ोडयम, और पख़टॕोषयम धॊतॏ जख़ बᄅत
अोभो㼇यॊषॎल ऻख़तॕ ऻ�, रखॕ जॊतॕ ऻ� ______

Water / जल म雀�

Sodium hydroxide solution/ ऺख़ोडयम ऻॊइड휀� ख़ ऑ鈊ॊइड कॕ घख़ल म雀�

Kerosene oil / ोमॎ कॕ तॕल म雀�

Diluted Hydrochloric acid / तनॐक॑त ऻॊइड휀� ख़댊ख़瘂रक एोऺड म雀�

Correct Answer :­Kerosene oil / ोमॎ कॕ तॕल म雀� 

2)

Question Stimulus :­

The main function of Arteries is to  carry / धमोनयख़ ंकॊ मॏ刅 य कॊय� ऻॖ

Deoxygenated blood from different parts of the body to the heart /  डॎऑ鈊ॎ जॕनॕटॕड (ोशऑ鈊ॎजोनत) र촉
षरॎर कॕ ोशोभ瘅ॕ ोऻ∊ख़ ंऺॕ 尅दय म雀� लॕ जॊनॊ

Oxygenated blood from heart to different parts of the body / ऑ鈊ॎजॕनॕटॕड र鐄 त 尅दय ऺॕ
षरॎर कॕ ोशोभ� न ोऻ ऺ ख़ ंम雀� लॕ जॊनॊ

Oxygenated blood from lungs to different parts of the body / ऑ鈊ॎजॕनॕटॕड (ऑ鈊ॎजोनत) र촉 फॕफीख़ ंऺॕ षरॎर
कॕ ोशोभ瘅  ोऻ∊ख़ ंम雀� लॕ जॊनॊ

Deoxygenated blood from different parts of the body to the lungs / डॎऑ鐄 ऺ ॎजॕनॕटॕड
(ोशऑ鈊ॎजोनत) र鐄 त षरॎर कॕ ोशोभ� न ोऻ ऺ ख़ ंऺॕ फॕफीख़ ंम雀� लॕ जॊनॊ

Correct Answer :­Oxygenated blood from heart to different parts of the body / ऑ鈊ॎजॕनॕटॕड
र鐄 त 尅दय ऺॕ षरॎर कॕ ोशोभ� न ोऻ ऺ ख़ ंम雀� लॕ जॊनॊ 

3)

Question Stimulus :­

The cool air moves from land towards the sea causing_____. /  ठंडॎ ऻशॊ, जख़ भॐोम ऺॕ ऺमॏंህ कॎ ओर चलतॎ ऻॖ
___________ कॊ कॊरण ऻख़तॎ ऻॖ।

Land breeze /  थल ऺमॎर

Sea breeze / ऺमॏህ ऺमॎर

Sand breeze / रॕतॎलॎ ऻशॊ



Monsoon winds / मॊन ॐऺनॎ कॎ ऻशॊओं

Correct Answer :­Land breeze /  थल ऺमॎर 

4)

Question Stimulus :­

The following planets rotates from east to west / ोन꤅ोल瘂खत 瀅ऻ पॐश� ऺॕ पो埯�म कॎ घॐण�न करतॕ ऻ�

Mercury & Saturn / बॏध और षोन

Venus & Uranus / शॎनऺ और यॐरॕनऺ

Uranus & Mercury / यॐरॕनऺ और मक� रॎ

Neptune & Mars / नॕप܉ॐन और मंगल

Correct Answer :­Venus & Uranus / शॎनऺ और यॐरॕनऺ 

5)

Question Stimulus :­

In a bulb, there is a thin wire, which glows when electric current flows through it. This is called a / एक ब䀉 म雀�, एक
पतलॊ तॊर ऻख़तॊ ऻॖ जख़ जलतॊ ऻॖ, जब उऺम雀� धॊरॊ कॊ ᨅशॊऻ ऻख़तॊ ऻॖ। इऺॕ कऻतॕ ऻ�

Fuse / ညॐज

Filament / ोफलॊम雀�ट

MCB / एमऺॎबॎ

Circuit / ऺोक� ट

Correct Answer :­Filament / ोफलॊम雀�ट 

6)

Question Stimulus :­

The smallest time interval that can be measured with commonly available clocks
and watches is / शख़ लघॏतम ऺमय अंतरॊल ोजऺॕ ऺॊमॊഈ 䐈प ऺॕ उपल谈 घोीयख़ ंऺॕ मॊपॊ जॊ ऺकतॊ ऻॖ।

One minute / एक ोमनट

One second / एक ऺॕकंड

One millisecond / एक ोमलॎ ऺॕकंड

Sixty seconds / ऺॊठ ऺॕकंड

Correct Answer :­One second / एक ऺॕकंड 

7)

Question Stimulus :­



The set of teeth which falls off between the age of  six to eight years  of a child are called / छऻ ऺॕ आठ ऺॊल कॎ उ봅
कॕ बॎच ब䰈ख़ ंकॕ जख़ दॊंत ोगरतॕ ऻ�, उ谇雀� कऻॊ जॊतॊ ऻॖ­

Permanent teeth / थॊयॎ दॊंत

Premolar teeth / अ瀅चश�णक दॊंत

Milk teeth / दॐ ध कॕ दॊंत

Molar teeth / चशण�क दॊंत

Correct Answer :­Milk teeth / दॐ ध कॕ दॊंत 

8)

Question Stimulus :­

Periscope is an instrument which makes use of  / पॕ瘂र कख़प एक यं� ऻॖ जख़ इऺकॊ ᨅयख़ग करतॊ ऻॖ

Plane mirror  / ऺमतल दप�ण

Convex mirror  / उ戂 तल दप�ण

Concave mirror  / अशतल दप�ण

Both convex and plane mirror / उ戂 तल और ऺमतल दप�ण दख़नख़ ं

Correct Answer :­Plane mirror  / ऺमतल दप�ण 

9)

Question Stimulus :­

A special kind of carbohydrate present in grass, which cannot be digested by the humans is /   घॊऺ म雀� मग़जॐद एक
ोशषॕह ᨅकॊर कॊ कॊब흝�ऻॊइड휀� ॕट, ोजऺॕ मॊनश ህॊरॊ पचॊयॊ नऻॎ ंजॊ ऺकतॊ _________ ऻॖ।

Glucose / 절ॐकख़ज

Fructose / 瘇ॏ 렉ख़ज

Cellulose / ऺॕलॏलख़ऺ

Sucrose /  ॏऺ㼇ख़ज

Correct Answer :­Cellulose / ऺॕलॏलख़ऺ 

10)

Question Stimulus :­

The weather forecasting makes use of  / मग़ऺम पॐशॊ�नॏमॊन इऺकॊ उपयख़ग करतॊ ऻॖ :

Clinical thermometer / 脉रमॊपॎ

Maximum minimum thermometer / अोधकतम ഈॐनतम तॊपमॊपॎ

Doctor’s thermometer / डॗ렉रॎ थमॊ�मॎटर

Laboratory thermometer / ᨅयख़गषॊलॊ थमॊ�मॎटर



Correct Answer :­Maximum minimum thermometer / अोधकतम ഈॐनतम तॊपमॊपॎ 

11)

Question Stimulus :­

Heat from the Sun reaches us by the process of  /  ॐऺरज कॎ ऊꄈॊ ऻम तक इऺ ᨅो㼇यॊ कॕ ህॊरॊ पᄅँचतॎ ऻॖ :

Convection / ऺंशऻन

Radiation / ोशोकरण

Conduction / चॊलन

Evaporation / शॊन

Correct Answer :­Radiation / ोशोकरण 

12)

Question Stimulus :­

Shearing refers to the process of  / ऊन कटॊई, इऺ ᨅो㼇यॊ कख़ दषॊ�तॊ ऻॖ

Making shawls from wool / ऊन ऺॕ षॗलख़ ंकख़ बनॊनॊ

Removing a thin layer of skin with fleece from the sheep for obtaining wool / ऊन ᨅॊ⤈ करनॕ कॕ ोलए भॕीख़ ं
ऺॕ ऊन कॕ ऺॊथ 딇चॊ कॎ पतलॎ परत ऻटॊनॊ

Killing the sheep for its wool / ऊन कॕ ोलए भॕी कख़ मॊरनॊ

Rearing young ones of the sheep / भॕी कॕ ब䰈ख़ ंकख़ पॊलनॊ

Correct Answer :­Removing a thin layer of skin with fleece from the sheep for obtaining wool / ऊन ᨅॊ⤈
करनॕ कॕ ोलए भॕीख़ ंऺॕ ऊन कॕ ऺॊथ 딇चॊ कॎ पतलॎ परत ऻटॊनॊ 

13)

Question Stimulus :­

Iron used in bridges & automobiles to provide strength are coated with Zinc to / पॏलख़ ंऔर गॊोीयख़ ंकॕ ोनमॊ�ण म雀�
इ⌉ॕमॊल ऻख़नॕ शॊलॕ लख़ऻॕ कख़ मजबॐतॎ दॕनॕ कॕ ोलए ोजंक कॎ कख़ोटंग करॎ जॊतॎ ऻॖ जख़ इऺॕ ­

Protect it from Dust & scratches / धॐल और खरख़चंख़ ंऺॕ बचॊतॊ ऻॖ

Make it look beautiful /  ॏऺ�र बनॊतॊ ऻॖ

Protect it from corrosion & formation of rust / इऺॕ ऺं埠�ॊरण ऺॕ और जंग लगनॕ ऺॕ बचॊतॊ ऻॖ

Give a shiny appearance / चमक ᨅदॊन करतॊ ऻॖ

Correct Answer :­Protect it from corrosion & formation of rust / इऺॕ ऺं埠�ॊरण ऺॕ और जंग लगनॕ ऺॕ
बचॊतॊ ऻॖ 

14)

Question Stimulus :­



Torches  make use of / टॗच雀�, इऺकॊ ᨅयख़ग करतॎ ऻ�

Plane mirror / ऺमतल दप�ण

Convex mirror / उ戂 तल दप�ण

Concave mirror / अशतल दप�ण

Convex lens / उ戂 तल लॕ� ऺ

Correct Answer :­Concave mirror / अशतल दप�ण 

15)

Question Stimulus :­

Inflammable substances catch fire easily as they have / 脉लनषॎल पदॊथ� बीॎ षॎ猅तॊ ऺॕ आग पकीतॕ ऻ�, ऐऺॊ इऺोलए
 ­ �ख़ोंक उनम雀܊

Low ignition temperature / ᨅ脉लन­तॊप कम ऻख़तॊ ऻॖ

High ignition temperature / ᨅ脉लन­तॊप अोधक ऻख़तॊ ऻॖ

High calorific value  / कॖलख़रॎ मॊन उ䰈 ऻख़तॊ ऻॖ

High heat of combustion / दऻन ऊꄈॊ उ䰈 ऻख़तॊ ऻॖ

Correct Answer :­Low ignition temperature / ᨅ脉लन­तॊप कम ऻख़तॊ ऻॖ 

16)

Question Stimulus :­

When soil contains a large proportion of big particles of sand, it is referred to as /
जब म॑दॊ म雀� बॊलॐ कॕ बुॕ कणख़ ंकॊ 樄 यॊदॊ अनॏपॊत रऻतॊ ऻॖ तख़ इऺॕ कऻॊ जॊतॊ ऻॖ

Loamy soil / दॏमटॎ म॑दॊ

Sandy soil / बलॏई म॑दॊ

Humus / ऻयॐमऺ

Clayey soil / म॑⤄ मय म॑दॊ

Correct Answer :­Sandy soil / बलॏई म॑दॊ 

17)

Question Stimulus :­

Expand WWTP / डȉॐडȉॐटॎपॎ कख़ ोश⌉॑त कर雀� ।

World water treatment plant / श舉� शॊटर ट휀� ॎटम雀�ट 절ॊंट

Waste water treatment process / शॕ� शॊटर ट휀� ॎटम雀�ट ᨅख़ऺॕऺ

Waste water treatment plant / शॕ� शॊटर ट휀� ॎटम雀�ट 절ॊंट

Worldwide treatment plant / श舉�शॊइड ट휀� ॎटम雀�ट 절ॊंट



Correct Answer :­Waste water treatment plant / शॕ� शॊटर ट휀� ॎटम雀�ट 절ॊंट 

18)

Question Stimulus :­

Electrical resistance is measured in unit of  /  ोशद्यॏ त ᨅोतरख़ध कख़ ोन㸃 न इकॊई म雀� मॊपॊ जॊतॊ ऻॖ

Joule  / जॐल

Ohm / ओम

Ampere / ए瘂欈यर

Volt / शख़ئى ट

Correct Answer :­Ohm / ओम 

19)

Question Stimulus :­

Moat, Chain pump,  Dhekli  & Rahat are / प瘂रखॊ, चॕन प欈, ढॕकलॎ और रॊऻत ऻ� ­

The traditional methods of irrigation / ोऺंचॊई कॕ पॊरंप瘂रक तरॎकॕ

The modern methods of harvesting /  ऺंलशन कॕ आधॏोनक तरॎकॕ

The traditional methods of spraying pesticides / कॎटनॊषक कॕ ोछीकॊश कॕ पॊरंप瘂रक तरॎक़ॕ

The traditional methods of sowing seeds / बॎज बख़नॕ कॕ पॊरंप瘂रक तरॎकॕ

Correct Answer :­The traditional methods of irrigation / ोऺंचॊई कॕ पॊरंप瘂रक तरॎकॕ 

20)

Question Stimulus :­

The menstrual flow lasts for about__________ and marks the end of the menstrual cycle. / आत�श कॊल __________
ोदनख़ ंतक रऻतॊ ऻॖ और मॊोऺक धम� च㼇 कख़ ऺमॊ⤈ करतॊ ऻॖ।

2 to 7 days / 2 ऺॕ 7 ोदन

10 to 12 days / 10 ऺॕ 12 ोदन

15 to 20 days / 15 ऺॕ 20 ोदन

20 to 24 days / 20 ऺॕ 24 ोदन

Correct Answer :­2 to 7 days / 2 ऺॕ 7 ोदन 

21)

Question Stimulus :­

MediĐiŶes ŵaŶufaĐtured ďǇ groǁiŶg speĐifiĐ ŵiĐroorgaŶisŵ & used to Đure a ǀarietǇ of diseases is / ोशोषစ
ॐऺ埬�जॎशख़ ंकॊ शध�न करकॕ बनॊई गयॎ दशॊ ोजऺऺॕ अलग अलग रख़गख़ ंकॊ उपचॊर ोकयॊ जॊतॊ ऻॖ।

AŶ埛�sep埛�Đ / पॐोतरख़धॎ



AŶ埛�geŶs / ᨅोतजन

AŶ埛�ďodies / एंटॎबॗडॎ

AŶ埛�ďio埛�Đs / एंटॎबॊयख़ोटक

Correct Answer :­AŶ埛�ďio埛�Đs / एंटॎबॊयख़ोटक 

22)

Question Stimulus :­

Ground water gets recharged by a process called /  भॐजल कॊ _________  ᨅो㼇यॊ ህॊरॊ पॏनभ�रण ऻख़ जॊतॊ ऻॖ।

Aquifer / जलभ॑त

Infiltration  / अंत:㐉ंदन

Water cycle / जल च㼇

Absorption / आमॕलन

Correct Answer :­Infiltration  / अंत:㐉ंदन 

23)

Question Stimulus :­

Lichens is a symbiotic association between / लॊइकॕन, इनकॕ बॎच कॊ ऺऻजॎशॎ ऺंबंध ऻख़तॊ ऻॖ

algae and fungi / षॖशॊल और कशक

fungi and bacteria / कशक और बॖ鐄 टॎ瘂रयॊ

bacteria and algae / बॖ鐄 टॎ瘂रयॊ और षॖशॊल

algae and algae / षॖशॊल और षॖशॊल

Correct Answer :­algae and fungi / षॖशॊल और कशक 

24)

Question Stimulus :­

CANCELLED

Which of the following processes is NOT an example of physical change  / ोन꤅ोल瘂खत ᨅो㼇यॊओ ंम雀� ऺॕ कग़न­ऺॊ भग़ोतक
प瘂रशत�न कॊ एक उदॊऻरण नऻॎ ंऻॖ :

Melting of candle wax / मख़मबॎ कॊ ोपघलनॊ

Dissolving salt in water / पॊनॎ म雀� नमक कॊ घॏलनॊ

Photosynthesis / ᨅकॊष ऺं戊ॕहण

Cutting of wood into pieces / लकीॎ कॊ टॏकीख़ ंम雀� कॊटनॊ

Correct Answer :­Dissolving salt in water / पॊनॎ म雀� नमक कॊ घॏलनॊ 



25)

Question Stimulus :­

The products formed as a result of anaerobic respiration in yeast are / खमॎर म雀�  अशॊयशॎय
韦�ऺन कॕ प瘂रणॊम ऺॕ बनॕ उ戂 पॊद ऻ�

Carbon dioxide and water / कॊब�नडॊइऑ鐄 ऺ ॊइड और जल

Carbon dioxide and alcohol / कॊब�नडॊइऑ鐄 ऺ ॊइड और एئى कख़ऻॗल

Oxygen and water  / ऑ鐄 ऺ ॎजन और जल

Oxygen and alcohol / ऑ鐄 ऺ ॎजन और एئى कख़ऻल

Correct Answer :­Carbon dioxide and alcohol / कॊब�नडॊइऑ鐄 ऺ ॊइड और एئى कख़ऻॗल 

Topic:­ General Hindi
1)

Question Stimulus :­

“इमॊ” ᨅय रोऻत ष༈ चॏन雀�

फॊोतमॊ

कॊोलमॊ

लॊोलमॊ

ऻरॎोतमॊ

Correct Answer :­फॊोतमॊ 

2)

Question Stimulus :­

ोन꤅ोल瘂खत मॏऻॊशरख़ ंम雀� ऺॕ ोकऺकॊ अथ� ‘ल瘂예त न ऻख़नॊ’ ऻॖ ?

आँखख़ ंपर चब戂 छॊनॊ

आँख म雀� गुनॊ

आँख म雀� चुनॊ

आँख म雀� पॊनॎ न ऻख़नॊ

Correct Answer :­आँख म雀� पॊनॎ न ऻख़नॊ 

3)

Question Stimulus :­

 ऺऻॎ ोशलख़म यॏ漈 नऻॎ ंऻॖ­

ल谈­ᨅद

लॏ⤈­䰈촉



पर­अपर

रख़गॎ­आरख़गॎ

Correct Answer :­रख़गॎ­आरख़गॎ 

4)

Question Stimulus :­

आषॊ ऺॕ बᄅत अोधक ܊ॊ कऻलॊतॊ ऻॖ ?

अᨅॊोषत

आषॊशॊन

ᨅॊोषत

आषॊतॎत

Correct Answer :­आषॊतॎत 

5)

Question Stimulus :­

शऻ 䰈瘂촉 जख़ ोदन म雀� कॕशल एक बॊर भख़जन करतॊ ऻॖ, कऻलॊतॊ ऻॖ ________

एकॊऻॊरॎ

अॊऻॊरॎ

ोभ埠�ॏ

ऺഈॊऺॎ

Correct Answer :­एकॊऻॊरॎ 

6)

Question Stimulus :­

‘कॏ मॊर’ कॊ एक अथ� ऻॖ­

ᨅभॊश

ऻॎरॊ

तख़तॊ

गग़तम

Correct Answer :­तख़तॊ 

7)

Question Stimulus :­



‘बᄅत धन लॊभ ऻख़नॊ’ अथ� कॊ ोन㸃 न म雀� ऺॕ मॏऻॊशरॊ बतॊइयॕ 

उड◌़तॎ ोचोीयॊ पऻचॊननॊ

एक आँख ऺॕ दॕखनॊ

कंचन बरऺनॊ

कॊम आनॊ

Correct Answer :­कंचन बरऺनॊ 

8)

Question Stimulus :­

‘ऺंퟜ�म’ कॊ ोशलख़म ऻॖ­

अपॐण�

तॊमोऺक

᠉ॊन

ऺंयम

Correct Answer :­ऺंयम 

9)

Question Stimulus :­

 भॐत अथशॊ शत�मॊन कॎ ोशषॕह घटनॊ, ᨅऺंग यॊ ोशहय कॕ ᨅमॏख कॊय흝� कॕ 㼇मब蔇 और ऺंो埠�⤈ ोशशरण कख़ कऻतॕ ऻ�? 

प瘂रप�

अोध ॐऺचनॊ

ᨅोतशॕदन

쀅ॊपन

Correct Answer :­ᨅोतशॕदन 

10)

Question Stimulus :­

ोन㸃 न म雀� ऺॕ ोनहॕधॊ戂 मक शॊ鐄 य चॏोनए।

ॐऺय� पॐश� ोदषॊ म雀� ोनकलतॊ ऻॖ।

म� आज बॊजॊर नऻॎ ंजॊऊँगॊ।

क॑पयॊ यॕ 瘂खीोकयॊँ बंद कर द雀�।

शॕ यऻॊँ कब आ रऻॕ ऻ�?



Correct Answer :­म� आज बॊजॊर नऻॎ ंजॊऊँगॊ। 

11)

Question Stimulus :­

ोऻंदॎ भॊहॊ मॕ ँोकतनॕ ᨅकॊर कॕ उपऺग� ऻ�?

एक

दख़

तॎन

चॊर

Correct Answer :­तॎन 

12)

Question Stimulus :­

अथ� कॕ आधॊर पर ोन㸃 नोल瘂खत शॊ鐄 य कॊ भॕद बतॊइयॕ – ई䰄 शर करॕ! आपकॎ यॊ�ॊ  षॏभ ऻख़।   

ऺंदॕऻशॊचक

ोश मयॊोद बख़धक

इꌂ छॊशॊचक

ऺंकॕतशॊचक

Correct Answer :­इꌂ छॊशॊचक 

13)

Question Stimulus :­

‘तं�’ कॊ एक अथ� ऻॖ­

पॊलॊ

तम

ऺॕनॊ

तॊरॊ

Correct Answer :­ऺॕनॊ 

14)

Question Stimulus :­

CANCELLED

ोलोप ऺॕ ܊ॊ अोभᨅॊय ऻॖ



भॊहॊ कॕ ोशोभ瘅 䐈प

भॊहॊ कख़ बख़लनॕ कॊ 䐈प

भॊहॊ कख़ ोलखनॕ कॕ ोच谇

भॊहॊ कख़ ोलखनॕ कॎ षॖलॎ

Correct Answer :­भॊहॊ कख़ ोलखनॕ कॕ ोच谇 

15)

Question Stimulus :­

जब कख़ई कॊगि प� मॐल 䐈प ऺॕ ᨅॕहक कख़ लग़टॊनॊ ऻख़तॊ ऻॖ‚ तख़ ोकऺकॎ आश䰄 यकतॊ पीतॎ ऻॖ?  

आदॕष

प॑  ठॊंकन

ᨅोतशॕदन

쀅ॊपन

Correct Answer :­प॑  ठॊंकन 

16)

Question Stimulus :­

‘कॏ टॕश’ म雀� उपऺग� ऻॖ­

कॏ ट

कॏ

कॏ ट्

कॏ ोट

Correct Answer :­कॏ  

17)

Question Stimulus :­

आ埯�य�, ऻह� और घ॑णॊ आोद कॊ बख़ध करॊनॕ कॕ ोलए ोन꤅ म雀� ऺॕ ोकऺ ोच谇 कॊ ᨅयख़ग ोकयॊ जॊतॊ ऻॖ 

ᨅ៦�शॊचक ोच锅

उ蔇रण ोच锅

यख़जक ोच锅

ोश搉यॊोदबख़धक ोच锅

Correct Answer :­ोश搉यॊोदबख़धक ोच锅 

18)



Question Stimulus :­

ोन瘂᠉瘂खत ोशकख़ ंम雀� ऺॕ कग़न ऺॊ ोशक अो瀅 कॊ पयॊ�यशॊचॎ नऻॎ ंऻॖ ?

दनॏज

दऻन

पॊशक

अनल

Correct Answer :­दनॏज 

19)

Question Stimulus :­

‘अोधစॊतॊ’ म雀� उपऺग� ­

अोध

अोधစ

अध

अध्

Correct Answer :­अोध 

20)

Question Stimulus :­

‘कख़प’ कॊ ोशपरॎतॊथ�क षЃ द बतॊइयॕ।

㼇ख़ध

रॎझनॊ

क॑पॊ

षॊंत

Correct Answer :­क॑पॊ 

21)

Question Stimulus :­

रॊज थॊन म雀� कग़न ऺॎ भॊहॊ बख़लॎ जॊतॎ ऻॖ?

छतॎऺगुॎ

खीॎ बख़लॎ

मॕशॊतॎ



क� नग़जॎ

Correct Answer :­मॕशॊतॎ 

22)

Question Stimulus :­

पऻॊीॎ इलॊकॕ म雀� इनम雀� ऺॕ कग़न ऺॎ भॊहॊ बख़लॎ जॊतॎ ऻॖ?

छतॎऺगुॎ

गुशॊलॎ, कॏ मॊऊँनॎ 

मॕशॊतॎ, मॊरशॊीॎ

क� नग़जॎ

Correct Answer :­गुशॊलॎ, कॏ मॊऊँनॎ  

23)

Question Stimulus :­

ोष  ट और  ॏऺोन瘂䰄 च त लख़गख़ ंህॊरॊ ोन 瘂䰄 ꌂ ॊत ᨅयॏ鐄 त तथॊ  यॊकरण ऺ㸃 मत भॊहॊ 䐈प ऻॎ _____________  कऻलॊतॊ ऻॖ

 यॊकरण

भॊहॊ

रॊजभॊहॊ

मॊनक भॊहॊ

Correct Answer :­मॊनक भॊहॊ 

24)

Question Stimulus :­

CANCELLED

म�नॕ एक क॑ष कॊय 䰈瘂촉 कख़ दॕखॊ “क॑ष” ष༈ कॊ उोचत ोशलख़म चॏन雀�  

थॐल

뤄ु

尅စ­पॏစ

कठख़र

Correct Answer :­尅စ­पॏစ 

25)

Question Stimulus :­



ोन꤅ोल瘂खत म雀� ऺॕ ोकनकॕ नॊम ᨅॊय: पॏ瘂ंग ऻख़तॕ ऻ�  ?

भॊहॊओ ँकॕ नॊम

नोदयख़ ंकॕ नॊम

ोदनख़ ंकॕ नॊम

ोतोथयख़ ंकॕ नॊम

Correct Answer :­ोदनख़ ंकॕ नॊम 

Topic:­ General Mathematics
1)

Question Stimulus :­

16

8

14

18

Correct Answer :­14 

2)

Question Stimulus :­

CANCELLED

Correct Answer :­  

3)



Question Stimulus :­

If the arithmetic mean of 8, 4, 15, x and 11 is 10, then x = / योद 8, 4, 15, x एशं 11 कॊ ऺमॊंतर मॊퟧ� 10 ऻॖ, तब x =

13

12

14

10

Correct Answer :­12 

4)

Question Stimulus :­

कख़ ऺरल कर雀� ।

1

0

Correct Answer :­  

5)

Question Stimulus :­

If one face of a cube has an area 64cm2, then its volume (in cm3) is / योद एक घन कॎ एक ऺतऻ कॊ 埠ॕ��फल
64ऺॕमॎ2 ऻॖ, तब इऺकॊ आयतन (ऺॕमॎ3 म雀�) ऻॖ :

216

384

256

512

Correct Answer :­512 

6)

Question Stimulus :­

If from a pack of 52 playing cards all the kings are removed and a card is selected at random, then the
probability , that the card selected is both red and black, is / योद 52 तॊष कॕ पख़ ंकॕ एक पॖक ऺॕ ऺभॎ बॊदषॊऻख़ ं



कख़ ऻटॊ ोदयॊ जॊय雀� एशं यॊ뤄瘂눉कतॊ ऺॕ ोकऺॎ एक पॕ कख़ चॏनॊ जॊयॕ, तख़ चयोनत पॊ, लॊल और कॊलॊ दख़नख़ ंऻख़गॊ,
इऺकॎ ᨅॊोयकतॊ ोकतनॎ ऻॖ:

1/12

0

5/48

1/16

Correct Answer :­0 

7)

Question Stimulus :­

­28

15

­22

18

Correct Answer :­­28 

8)

Question Stimulus :­

a = c

a = ­ c

a = 2c

a = ­ 2c

Correct Answer :­a = ­ c 

9)



Question Stimulus :­

Find the value of ‘a’ for which the following system of equations has infinite number of solutions. 2ax + 6y = a + 3
and 3x + ay = a  /  ‘a’ कॊ मॊन ोनकॊोलए ोजऺकॕ ोलए ोन꤅ ऺमॎकरण ोनकॊयख़ ंकॕ अनंत ऻल ऻख़गॕं। 2ax + 6y = a + 3 और
3x + ay = a

9

6

3

4

Correct Answer :­3 

10)

Question Stimulus :­

Correct Answer :­  

11)

Question Stimulus :­

The slant height of the frustum of a cone is 8cm. The perimeters of its circular bases are 20cm and 12cm. Find
the curved surface area of the frustum. / एक षंकॏ  कॕ ⌉ंभथॐण कॎ ोतरछॎ ऊँचॊई 8 ऺॕमॎ ऻॖ। इऺकॕ श॑ॎय आधॊरख़ ं
कॊ प瘂रमॊप 20 ऺॕमॎ एशं 12 ऺॕमॎ ऻॖ। ⌉ंभथॐण कॕ श㼇 प॑စॎय 埠ॕ��फल कख़ 쀅ॊत कर雀� ।

116cm2 / 116ऺॕमॎ2

108cm2 / 108ऺॕमॎ2

128cm2 / 128ऺॕमॎ2

120cm2 / 120ऺॕमॎ2



Correct Answer :­128cm2 / 128ऺॕमॎ2 

12)

Question Stimulus :­

If the semi perimeter of a triangle is 21cm and two of its sides are 13cm and 15cm, then its area (in cm2) is /  योद
एक ो�कख़ण कॊ अ蔇� प瘂रमॊप 21 ऺॕमॎ एशं इऺकॎ दख़ भॏजॊएँ 13 ऺॕमॎ एशं 15 ऺॕमॎ ऻ�, तब इऺकॊ 埠ॕ��फल (ऺॕमॎ2 म雀�) ऻॖ:

46

68

81

84

Correct Answer :­84 

13)

Question Stimulus :­

19

16

18

20

Correct Answer :­20 

14)

Question Stimulus :­

60°



35°

70°

45°

Correct Answer :­70° 

15)

Question Stimulus :­

Correct Answer :­  

16)

Question Stimulus :­

A girl 4ft tall is standing in front of a 26ft high building. At a certain time of the day , if the girl casts a 6ft long
shadow, then the shadow of the building at the same time is  / 4 फॏ ट ल興ॎ एक लीकॎ, 26 फॏ ट ऊँचॕ एक भशन कॕ
ऺॊमनॕ खीॎ ऻॖ। ोदन कॕ एक ोनो埯�त ऺमय म雀�, योद लीकॎ कॎ परछॊई 6 फॎट लंबॎ बनतॎ ऻॖ, तख़ ठॎक उऺॎ ऺमय भशन कॎ
परछॊई ोकतनॎ बनॕगॎ ­

39ft

42ft

32ft

48ft

Correct Answer :­39ft 

17)

Question Stimulus :­



120°

150°

225°

200°

Correct Answer :­150° 

18)

Question Stimulus :­

Correct Answer :­  

19)

Question Stimulus :­

1

0



­1

Correct Answer :­1 

20)

Question Stimulus :­

The point on the line, through A(1 , ­3) and B(­2 , 3) that is twice as far from A as from B, is / ोबंदॏओ ंA(1, ­3)
एशं B(­2, 3) ህॊरॊ बनॎ रॕखॊ पर 瘂थत एक ोबंदॏ, जख़ B कॎ तॏलनॊ म雀� A ऺॕ दख़गॏनॎ दॐ रॎ पर 瘂थत ऻॖ, शऻ ोबंदॏ ऻॖ:

(­2 , 1)

(­1 , 3)

(­1 , 1)

(2 , ­3)

Correct Answer :­(­1 , 1) 

21)

Question Stimulus :­

The ratio in which the line segment joining (5 , ­4) and (­3 , 2) is divided by x­axis is / शऻ अनॏपॊत, ोजऺम雀� (5 , ­4)
एशं (­3 , 2) कख़ ोमलॊनॕ शॊलॎ रॕखॊखंड, x­अ埠� ህॊरॊ ोशभॊोजत ऻख़तॕ ऻ� :

2 : 3

3 : 1

2 : 1

3 : 2

Correct Answer :­2 : 1 

22)

Question Stimulus :­



Correct Answer :­  

23)

Question Stimulus :­

7



Correct Answer :­  

24)

Question Stimulus :­

Correct Answer :­  

25)

Question Stimulus :­

70°

40°



50°

30°

Correct Answer :­30° 

Topic:­ General English
1)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

________ something happens, I’ll see you tomorrow.

When

Unless

Provided

Suppose

Correct Answer :­Unless 

2)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice:

We added up the money and found it was correct.

Adding up the money it was found it to be correct by us.

Adding up the money we found it to be correct.

The money was added up and found to be correct.

The money is added up by us and found to be correct.

Correct Answer :­The money was added up and found to be correct. 

3)

Question Stimulus :­

Choose the correct form of verb that is in agreement with the subject:

The people of this town __________ educated.

is

are

is being

will being

Correct Answer :­are 



4)

Question Stimulus :­

Choose the option that is closest in meaning to the highlighted word in the given sentence:

Bhuvana implored her mother to allow her to go to mall to spend some time with her friends.

assumed

said

declared

begged

Correct Answer :­begged 

5)

Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it: 

Once again, I sincerely pardon for the difficulties you have encountered.

Once again,

I sincerely pardon

For the difficulties

You have encountered.

Correct Answer :­I sincerely pardon 

6)

Question Stimulus :­

Choose the option that best punctuates the given sentence: 

Please can we discuss this calmly

Please, can we discuss this calmly?

Please, can we discuss this, calmly?

Please can we discuss, this calmly?

Please. Can we discuss this, calmly.

Correct Answer :­Please, can we discuss this calmly? 

7)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form:

Tom says, ‘Mother, can you sew this button for me, please?’



Tom requests his mother if she can sew that button for him.

Tom requested his mother if she could sew that button for him.

Tom pleaded his mother if she can sew that button for me.

Tom asked his mother if his mother could sew that button for Tom.

Correct Answer :­Tom requests his mother if she can sew that button for him. 

8)

Question Stimulus :­

Choose the option that best punctuates the given sentence: 

Id have killed my wife if Id had the chance he said

“I’d have killed, my wife, if I’d had the chance.” He said

“I’d have killed my wife if I’d had the chance,” he said.

“I’d have killed my wife if I’d had the chance’ he said

‘Id’ have killed my wife if Id’ had the chance” he said!

Correct Answer :­“I’d have killed my wife if I’d had the chance,” he said. 

9)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form:

‘Beware of pickpockets,’ said a huge notice.

A huge notice has claimed us to beware of pickpockets.

A huge notice instructed us to be aware of pickpockets.

A huge notice warned us to beware of pickpockets.

A huge notice is warning all the public to beware.

Correct Answer :­A huge notice warned us to beware of pickpockets. 

10)

Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it:

It will be difficult to arrange payment in such short notice.

it will be difficult

to arrange payment

in such short notice.

no error



Correct Answer :­in such short notice. 

11)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

________ you are my favourite brother, I'll tell mother about it.

Unless

Even though

Whenever

However

Correct Answer :­Even though 

12)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence::

After a walk, Manu __________ very energetic every morning.

is feeling

felt

feels

will feel

Correct Answer :­feels 

13)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice:

Release the prisoner.

Be the prisoner released.

The prisoner may be released.

Let the act of releasing the prisoner be done.

Let the prisoner be released.

Correct Answer :­Let the prisoner be released. 

14)

Question Stimulus :­

Choose the option that best transforms the given sentence without changing its meaning:



The travel agent should refund the ticket.

It’s right for the travel agent to refund the ticket.

It’s not right for the travel agent to refund the ticket.

It’s wrong for the travel agent to refund the ticket.

The travel agent should be refunding the ticket.

Correct Answer :­It’s right for the travel agent to refund the ticket. 

15)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

Fire fighters were trying to lift the wreckage ________ an express bus that had overturned ________
the main highway.

of, on

at, in

in, across

under, in

Correct Answer :­of, on 

16)

Question Stimulus :­

Choose the option that best transforms the given sentence without changing its meaning:

It’s not right for regular customers to wait for their service visits.

Regular customers will not to wait for their service visits.

Regular customers oughtn’t to wait for their service visits.

Regular customers ought to wait for their service visits.

Regular customers must wait for their service visits.

Correct Answer :­Regular customers oughtn’t to wait for their service visits. 

17)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence::

Why hasn’t Seema come to office today? __________ ill?

Was she

Is she being



Is she

Will she be

Correct Answer :­Is she 

18)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

The students threw a stone ________ the bus and it knocked the glass ________.

at, off

in, out

on, down

from, away

Correct Answer :­at, off 

19)

Question Stimulus :­

Complete the sentence choosing the right form of Prefix:

His childhood days were _____  happy because he had no money.

mis

un

dis

in

Correct Answer :­un 

20)

Question Stimulus :­

Choose the most suitable determiner for the given sentence: 

_____ cheese does not taste good.

This

A few

All

These

Correct Answer :­This 



Topic:­ RC_General English
1)

Question Stimulus :­

Read the following passage and answer the question given below:

Nowadays, it has become fashionable for college students to go to their academic institution on motorbikes. They
ride very fast overtaking heavy vehicles, neglecting the road­bumps and consider themselves heroes just like in the
movies.

Today, our industries and transport depend heavily upon petroleum products which are non­renewable. The facts
and figure show us that petroleum products are fast depleting. So there is a need to conserve them.

As students, what is our role in conserving the sources of energy? Students should learn the ways of conserving
these sources and create awareness among the people at the same time. They should set examples themselves by
conserving energy.

One way to do this is by travelling to and from schools/ colleges either on foot or by bicycle instead of using fuel
burning vehicles. They may urge their parents to minimize the use of cars for traveling and instead use the public
transport system for the same because cars consume more petrol comparatively.

Students should use fans and light at home, only when they are absolutely essential. They should urge
schools/colleges authorities to ban the use of motorbikes in the school/college premises. Isn’t it time we do this to
conserve energy sources? For, it is in the hands of the youth to begin this project.

What do motorbikes symbolize to students, according to the writer?

Power

Transport vehicle

Faster mode of commuting

Fashion

Correct Answer :­Fashion 

2)

Question Stimulus :­

Read the following passage and answer the question given below:

Nowadays, it has become fashionable for college students to go to their academic institution on motorbikes. They
ride very fast overtaking heavy vehicles, neglecting the road­bumps and consider themselves heroes just like in the
movies.

Today, our industries and transport depend heavily upon petroleum products which are non­renewable. The facts
and figure show us that petroleum products are fast depleting. So there is a need to conserve them.

As students, what is our role in conserving the sources of energy? Students should learn the ways of conserving
these sources and create awareness among the people at the same time. They should set examples themselves by
conserving energy.

One way to do this is by travelling to and from schools/ colleges either on foot or by bicycle instead of using fuel
burning vehicles. They may urge their parents to minimize the use of cars for traveling and instead use the public
transport system for the same because cars consume more petrol comparatively.

Students should use fans and light at home, only when they are absolutely essential. They should urge
schools/colleges authorities to ban the use of motorbikes in the school/college premises. Isn’t it time we do this to
conserve energy sources? For, it is in the hands of the youth to begin this project.



Whom do they compare themselves with?

Sports people

Adventure lover

Dare devils

Movie heroes

Correct Answer :­Movie heroes 

3)

Question Stimulus :­

Read the following passage and answer the question given below:

Nowadays, it has become fashionable for college students to go to their academic institution on motorbikes. They
ride very fast overtaking heavy vehicles, neglecting the road­bumps and consider themselves heroes just like in the
movies.

Today, our industries and transport depend heavily upon petroleum products which are non­renewable. The facts
and figure show us that petroleum products are fast depleting. So there is a need to conserve them.

As students, what is our role in conserving the sources of energy? Students should learn the ways of conserving
these sources and create awareness among the people at the same time. They should set examples themselves by
conserving energy.

One way to do this is by travelling to and from schools/ colleges either on foot or by bicycle instead of using fuel
burning vehicles. They may urge their parents to minimize the use of cars for traveling and instead use the public
transport system for the same because cars consume more petrol comparatively.

Students should use fans and light at home, only when they are absolutely essential. They should urge
schools/colleges authorities to ban the use of motorbikes in the school/college premises. Isn’t it time we do this to
conserve energy sources? For, it is in the hands of the youth to begin this project.

What can students do to conserve energy?

Not go to college.

Use cycles and go on foot.

Go by bus.

Travel by bullock cart.

Correct Answer :­Use cycles and go on foot. 

4)

Question Stimulus :­

Read the following passage and answer the question given below:

Nowadays, it has become fashionable for college students to go to their academic institution on motorbikes. They
ride very fast overtaking heavy vehicles, neglecting the road­bumps and consider themselves heroes just like in the
movies.

Today, our industries and transport depend heavily upon petroleum products which are non­renewable. The facts
and figure show us that petroleum products are fast depleting. So there is a need to conserve them.



As students, what is our role in conserving the sources of energy? Students should learn the ways of conserving
these sources and create awareness among the people at the same time. They should set examples themselves by
conserving energy.

One way to do this is by travelling to and from schools/ colleges either on foot or by bicycle instead of using fuel
burning vehicles. They may urge their parents to minimize the use of cars for traveling and instead use the public
transport system for the same because cars consume more petrol comparatively.

Students should use fans and light at home, only when they are absolutely essential. They should urge
schools/colleges authorities to ban the use of motorbikes in the school/college premises. Isn’t it time we do this to
conserve energy sources? For, it is in the hands of the youth to begin this project.

How can schools/colleges help to conserve energy?

By insisting that students should walk to school.

By insisting that students should use cycle.

By insisting that students should not use motorbikes at all.

By insisting that students should share bikes.

Correct Answer :­By insisting that students should not use motorbikes at all. 

5)

Question Stimulus :­

Read the following passage and answer the question given below:

Nowadays, it has become fashionable for college students to go to their academic institution on motorbikes. They
ride very fast overtaking heavy vehicles, neglecting the road­bumps and consider themselves heroes just like in the
movies.

Today, our industries and transport depend heavily upon petroleum products which are non­renewable. The facts
and figure show us that petroleum products are fast depleting. So there is a need to conserve them.

As students, what is our role in conserving the sources of energy? Students should learn the ways of conserving
these sources and create awareness among the people at the same time. They should set examples themselves by
conserving energy.

One way to do this is by travelling to and from schools/ colleges either on foot or by bicycle instead of using fuel
burning vehicles. They may urge their parents to minimize the use of cars for traveling and instead use the public
transport system for the same because cars consume more petrol comparatively.

Students should use fans and light at home, only when they are absolutely essential. They should urge
schools/colleges authorities to ban the use of motorbikes in the school/college premises. Isn’t it time we do this to
conserve energy sources? For, it is in the hands of the youth to begin this project.

What is the main risk they take?

Speeding

Breaking traffic rules

Taking shortcuts

Jumping signals

Correct Answer :­Speeding 

Topic:­ General Knowledge
1)



Question Stimulus :­

North­East monsoon affects which of the following states first? / उर­पॐश� मॊन ॐऺन ऺबऺॕ पऻलॕ ोन㸃 न म雀� ऺॕ ोकऺ रॊ甉
कख़ ᨅभॊोशत करतॊ ऻॖ?

Tamil Nadu / तोमलनॊडॏ

Gujarat / गॏजरॊत

Sikkim / ोऺ瘂팋म

Karnataka / कनॊ�टक

Correct Answer :­Tamil Nadu / तोमलनॊडॏ 

2)

Question Stimulus :­

Bhoodan Movement in India was started by ___________. / भॊरत म雀� भॐदॊन आंदख़लन कख़ ___________ ህॊरॊ षॏ䐈 ोकयॊ
गयॊ थॊ।

Binayak Sen / ोबनॊयक ऺॕन

Vinoba Bhave / ोशनख़बॊ भॊशॕ

Subramania Bharati /  ॏऺ䐅䀇錉 भॊरतॎ

Chandra Shekhar Azad / चंህषॕखर आजॊद

Correct Answer :­Vinoba Bhave / ोशनख़बॊ भॊशॕ 

3)

Question Stimulus :­

________ is the Indian father of Green Revolution. / ________ कख़ ऻ瘂रत 㼇ॊंोत कॕ भॊरतॎय जनक कॕ 䐈प म雀� जॊनॊ जॊतॊ
ऻॖ।

M.S. Swaminathan / एम एऺ उॊमॎनॊथन

Sunderlal Bahuguna /  ॏऺंदरलॊल बᄅगॏणॊ

Anupam Mishra / अनॏपम ोम៦�ॊ

Robin Banerjee / रॗोबन बनज戂

Correct Answer :­M.S. Swaminathan / एम एऺ उॊमॎनॊथन 

4)

Question Stimulus :­

The Taj Mahal is an ivory­white marble mausoleum on the south bank of  ________ river in Agra. / तॊजमऻल,
आगरॊ म雀� ________ नदॎ कॕ दो埠�णॎ तट पर ऺफॕद ऺंगमरमर ऺॕ बनॊ एक मकबरॊ ऻॖ।

Ganga / गंगॊ

Yamuna / यमॏनॊ



Saraswati / ऺरउतॎ

Tapti / तॊ瘂⤈

Correct Answer :­Yamuna / यमॏनॊ 

5)

Question Stimulus :­

___________ is the least populous state in India. /   ______भॊरत कॊ ऺबऺॕ कम आबॊदॎ शॊलॊ रॊ甉 ऻॖ।

Assam / अऺम

Sikkim / ोऺ瘂팋म

Arunachal Pradesh / अ젅णॊचल ᨅदॕष

Manipur / मोणपॏर

Correct Answer :­Sikkim / ोऺ瘂팋म 

6)

Question Stimulus :­

Bhopal gas tragedy occurred in the year ______. /  भख़पॊल गॖऺ �ॊऺदॎ, शह� ______ म雀� घोटत ᄅई थॎ। 

1980

1993

1984

1986

Correct Answer :­1984 

7)

Question Stimulus :­

The longest serving woman member of Lok Sabha is _______. / लख़कऺभॊ म雀� ऺबऺॕ लंबॕ ऺमय तक ऺॕशॊरत मोऻलॊ ऺद㐉
_______ ऻ�।

Smriti Irani / 搉॑ोत ईरॊनॎ

Sumitra Mahajan /  ॏऺ ोम�ॊ मऻॊजन

Nirmala Seetharaman / ोनम�लॊ ऺॎतॊरमण

Sushma Swaraj /  ॏऺहमॊ उरॊज

Correct Answer :­Sumitra Mahajan /  ॏऺ ोम�ॊ मऻॊजन 

8)

Question Stimulus :­

CANCELLED



P. V. Sindhu, a badminton player is from ____________ state of India. / पॎ.शॎ. ोऺंधॐ, भॊरत कॕ रॊ甉 ________ ऺॕ एक
बॖडोमंटन 瘂खलॊीॎ ऻ�।

Tamil Nadu / तोमलनॊडॏ

Andhra Pradesh / आंퟭ� ᨅदॕष

Kerala / कॕरल

Karnataka / कनॊ�टक

Correct Answer :­Andhra Pradesh / आंퟭ� ᨅदॕष 

9)

Question Stimulus :­

Project Akanksha is an e­learning platform to encourage and promote tribal students of _______ district of
Madhya Pradesh. / आकॊं埠�ॊ प瘂रयख़जनॊ, मퟧ�ᨅदॕष कॕ _______ ोजलॕ कॕ आोदशॊऺॎ छॊ�ख़ ंकख़ बुॊशॊ दॕनॕ कॕ ोलए एक ई­लोन�ग मंच
ऻॖ।

Sheopur / षॕओपॏर

Bhind / ोभंड

Datia / दोतयॊ

Dindori / ोडंडख़रॎ

Correct Answer :­Dindori / ोडंडख़रॎ 

10)

Question Stimulus :­

Prime Minister Narendra Modi laid the foundation stone of first ever Indian Institute of Skills on 19th December
2016 at _________. / ᨅधॊनमं�ॎ नर雀�ህ मख़दॎ नॕ 19 ोदऺंबर 2016 कख़ _________ म雀� भॊरत कॕ ᨅथम भॊरतॎय कग़षल ऺंथॊन कॎ
आधॊरोषलॊ कख़ रखॊ।

Allahabad / इलॊऻबॊद

Kanpur / कॊनपॏर

Lucknow / लखनऊ

Agra / आगरॊ

Correct Answer :­Kanpur / कॊनपॏर 

11)

Question Stimulus :­

All major companies operating in Singrauli belong to Indian _______ Industry. / ोऺंगरग़लॎ म雀� ऺंचॊोलत ऺभॎ ᨅमॏख
ऺो㼇य कंपोनयॊँ, भॊरतॎय _______ उ嬆ख़ग ऺॕ ऺंबंोधत ऻ�।

Energy / ऊजॊ�

Steel / इ㈉ॊत



Cement / ऺॎम雀�ट

Agro / ए瀅ख़

Correct Answer :­Energy / ऊजॊ� 

12)

Question Stimulus :­

__________, one of the Bengal Tigers of Bandhvgarh National Park has appeared on the
cover of “National Geographic” magazine. / ________, बॊंधशगु रॊစ휀� ॎय उ嬆ॊन कॕ बंगॊल टॊइगरख़ ंम雀�
ऺॕ एक ऻॖ, जख़ोक "नॕषनल 甉ख़瀅ॊोफक" मॖगजॎन कॕ कशर पर ोदखॊई दॎ।

Charger / चॊज�र

Ram / रॊम

Sita / ऺॎतॊ

Mohini / मख़ोऻनॎ

Correct Answer :­Sita / ऺॎतॊ 

13)

Question Stimulus :­

The first Indian sound film is _________. / पऻलॎ भॊरतॎय बख़लतॎ (ऺॊउंड) ोफ砉 ________ ऻॖ।

Pather Panchali / पॊथॕर पॊंचॊलॎ

Raja Harischandra / रॊजॊ ऻ瘂र埯ं�ህ

Alam Ara / आलम आरॊ

Neecha Nagar / नॎचॊ नगर

Correct Answer :­Alam Ara / आलम आरॊ 

14)

Question Stimulus :­

Tablighi Ijtema is held in _________. / तȉॎगॎ इ樄तॕमॊ _________ म雀� आयख़ोजत ऻख़तॊ ऻॖ।

Jabalpur / जबलपॏर

Bhopal / भख़पॊल

Rewa / रॎशॊ

Satna / ऺतनॊ

Correct Answer :­Bhopal / भख़पॊल 

15)

Question Stimulus :­



Which of the following Prime Ministers was born in Madhya Pradesh? / ोन꤅ोल瘂खत ᨅधॊन मंो�यख़ ंम雀� ऺॕ कग़न
मퟧ�ᨅदॕष म雀� पॖदॊ ᄅए थॕ?

Inder Kumar Gujral / इंद कॏ मॊर गॏजरॊल

Atal Bihari Vajpayee / अटल ोबऻॊरॎ शॊजपॕयॎ

H.D. Deve Gowda / एच. डॎ. दॕशॕगग़डॊ

Manmohan Singh / मनमख़ऻन ोऺंऻ

Correct Answer :­Atal Bihari Vajpayee / अटल ोबऻॊरॎ शॊजपॕयॎ 

16)

Question Stimulus :­

Who is the primary law officer of India? / भॊरत कॕ ᨅॊथोमक कॊनॐन अोधकॊरॎ कग़न ऻॖ?

Secretary General / ᨅधॊन ऺोचश

Legal Advisor / कॊनॐनॎ ऺलॊऻकॊर

Attorney General / मऻॊഈॊयशॊदॎ

None of the above / उपरख़촉 म雀� ऺॕ कख़ई नऻॎ ं

Correct Answer :­Attorney General / मऻॊഈॊयशॊदॎ 

17)

Question Stimulus :­

___________ has been called world’s longest hunger striker. / ________ कख़ ोश韦� कॊ ऺबऺॕ बीॊ भॐख ऻीतॊलॎ कऻॊ जॊतॊ
ऻॖ।

Anna Hazare / अ瘅ॊ ऻजॊरॕ

Irom Chanu Sharmila / इरख़म चॊनॐ षम戂लॊ

Arvind Kejriwal / अरोश� कॕजरॎशॊल

Manasi Pradhan / मॊनऺॎ ᨅधॊन

Correct Answer :­Irom Chanu Sharmila / इरख़म चॊनॐ षम戂लॊ 

18)

Question Stimulus :­

Which Indian state ranks on the top of the energy saving list issued by the World Bank? / भॊरत कॕ ोकऺ रॊ樄 य कख़
ोश䰄 श ब�क ህॊरॊ ऺशॊ�ोधक ऊजॊ� बचॊनॕ शॊलॕ रॊ樄 यख़ ंकॎ  ॐऺचॎ म雀� षॎह� पर  थॊन ोदयॊ गयॊ ऻॖ?

Madhya Pradesh / मퟔ� य ᨅदॕष

Maharashtra / मऻॊरॊ  ट휀�

Andhra Pradesh / आंퟭ� ᨅदॕष



Gujarat / गॏजरॊत

Correct Answer :­Andhra Pradesh / आंퟭ� ᨅदॕष 

19)

Question Stimulus :­

______ Airport is the busiest airport in Madhya Pradesh. / मퟧ�ᨅदॕष कॊ ऺबऺॕ  य ततम ऻशॊईअ訅ॊ _________ ऻॖ।

 Devi Ahilyabai Holkar / दॕशॎ अोऻ䴉ॊबॊई ऻख़लकर

Raja Bhoj / रॊजॊ भख़ज

Jabalpur / जबलपॏर

Gwalior / 쐇ॊोलयर

Correct Answer :­ Devi Ahilyabai Holkar / दॕशॎ अोऻ䴉ॊबॊई ऻख़लकर 

20)

Question Stimulus :­

The famous Garba folk dance form belongs to which of the following states? / ᨅोऺ蔇 लख़कन॑戂 य गरबॊ, ोन㸃 न
म雀� ऺॕ ोकऺ रॊ樄 य ऺॕ ऺंबंोधत ऻॖ?

Maharashtra / मऻॊरॊ  ट휀�

Karnataka / कनॊ�टक

Gujarat / गॏजरॊत

Kerala / कॕरल

Correct Answer :­Gujarat / गॏजरॊत 

21)

Question Stimulus :­

___________ is the present Chairman of the  Union Public Service Commission? / ऺंघ लख़क ऺॕशॊ आयख़ग कॊ शत�मॊन
अퟔ� य埠� कग़न ऻॖ?

Alka Sirohi / अئى कॊ ोऺरख़ऻॎ

D P Agrawal  / डॎ.पॎ. अ瀅शॊल

Deepak Gupta / दॎपक गॏ तॊ

G Mohan Kumar / जॎ. मख़ऻन कॏ मॊर

Correct Answer :­Alka Sirohi / अئى कॊ ोऺरख़ऻॎ 

22)

Question Stimulus :­

_________ is the state animal of Rajasthan. / रॊजथॊन कॊ रॊ甉 पषॏ, ________ ऻॖ।



Camel / ऊँट

Horse / घख़ीॊ

Cow / गॊय   

Bear / भॊलॐ

Correct Answer :­Camel / ऊँट 

23)

Question Stimulus :­

Madhya Pradesh has a Special Economic Zone in _______. / मퟧ�ᨅदॕष कॕ  _______ म雀� ोशषॕह आोथ�क 埠ॕ�� ऻॖ।

Jabalpur / जबलपॏर

Bhopal / भख़पॊल

Bhojpur / भख़जपॏर

Ujjain / उ예ॖन

Correct Answer :­Jabalpur / जबलपॏर 

24)

Question Stimulus :­

Pandit Hariprasad Chaurasia is a _______. / पंोडत ऻ瘂रᨅऺॊद चग़रोऺयॊ,  एक ________ ऻॖ।

Flutist / बॊं ॏऺरॎशॊदक

Pianist / ोपयॊनख़शॊदक

Guitarist / ोगटॊरशॊदक

Sitarist / ोऺतॊरशॊदक

Correct Answer :­Flutist / बॊं ॏऺरॎशॊदक 

25)

Question Stimulus :­

Somnath temple is in _____. / ऺख़मनॊथ मंोदर, _____ म雀� ऻॖ।

Gujarat / गॏजरॊत

Madhya Pradesh / मퟧ�ᨅदॕष

Uttar Pradesh / उर ᨅदॕष

Orissa / उीॎऺॊ

Correct Answer :­Gujarat / गॏजरॊत 

Topic:­ General Computer Knowledge
1)



Question Stimulus :­

IŶ MS Word ϮϬϬ7, Ctrl + G ____________. / MS Word ϮϬϬ7 म雀�, Ctrl + G _______.

OpeŶ Paragraph Dialog ďoǆ aĐ埛�ǀa埛�Ŷg Goto Taď / Goto Taď कख़ ए瘂렉शॕट करतॕ ᄅए Paragraph डॊयलॗग बॗ鐄 ऺ
ओपॕन करतॊ ऻॖ

OpeŶ Page Setup Dialog ďoǆ aĐ埛�ǀa埛�Ŷg Goto Taď / Goto Taď कख़ ए瘂렉शॕट करतॕ ᄅए Page Setup डॊयलॗग बॗ鐄 ऺ
ओपॕन करतॊ ऻॖ

OpeŶ FiŶd aŶd ReplaĐe Dialog ďoǆ ǁith aĐ埛�ǀa埛�Ŷg Goto Taď / Goto Taď कख़ ए瘂렉शॕट करतॕ ᄅए FiŶd aŶd
ReplaĐe डॊयलॗग बॗ鐄 ऺ  ओपॕन करतॊ ऻॖ

All of the above / उपरख़촉 ऺभॎ

Correct Answer :­OpeŶ FiŶd aŶd ReplaĐe Dialog ďoǆ ǁith aĐ埛�ǀa埛�Ŷg Goto Taď / Goto Taď कख़ ए瘂렉शॕट करतॕ ᄅए
FiŶd aŶd ReplaĐe डॊयलॗग बॗ鐄 ऺ  ओपॕन करतॊ ऻॖ 

2)

Question Stimulus :­

What is the difference between Endnote and Footnote? / एंडनख़ट तथॊ फॐ टनख़ट कॕ मퟔ� य 鐄 यॊ अंतर ऻख़तॊ ऻॖ?

Both are the same / दख़नख़ ंऺमॊन ऻख़तॕ ऻ�

Endnote is the Appendix at the end of the document, Footnote is the Page number, name of the chapter,
and date at the bottom of the page / एंडनख़ट ड鐄 यॐम雀�ट कॕ अंत म雀� एप雀�ोड鐄 ऺ  ऻख़तॊ ऻॖ, फॐ टनख़ट पॕज कॎ तलॎ म雀� 瘂थत
पॕज नंबर, चॕ टर कॊ नॊम तथॊ ोतोथ इ戂 यॊोद ऻख़तॊ ऻॖ

Endnotes are a series of notes placed at the end of the document. Footnote is a series of notes at the
bottom of a page / एंडनख़ट्ऺ ड鐄 यॐम雀�ट कॕ अंत म雀� 瘂थत नख़ट्ऺ कॎ ोऺरॎि ऻख़तॕ ऻ�। फॐ टनख़ट पॕज कॎ तलॎ म雀� 瘂थत नख़ट्ऺ
कॎ ोऺरॎज ऻख़तॕ ऻ�

None of the above / उपरख़鐄 त म雀� ऺॕ कख़ई नऻॎ ं

Correct Answer :­Endnotes are a series of notes placed at the end of the document. Footnote is a series of
notes at the bottom of a page / एंडनख़ट्ऺ ड鐄 यॐम雀�ट कॕ अंत म雀� 瘂थत नख़ट्ऺ कॎ ोऺरॎि ऻख़तॕ ऻ�। फॐ टनख़ट पॕज कॎ तलॎ म雀� 瘂थत
नख़ट्ऺ कॎ ोऺरॎज ऻख़तॕ ऻ� 

3)

Question Stimulus :­

The computer jargon ­ WWWW, stands for ___________. / क㸃  यॐटर जॊग�न म雀� WWWW ोकऺकॕ ोलए ᨅयॏ鐄 त ऻख़तॊ ऻॖ?

World Wide Web Worm

World Wide Wildlife Web

World Wide Women's Web

World Wide Women's Week

Correct Answer :­World Wide Web Worm 

4)



Question Stimulus :­

What does the acronym SDLC mean? /   SDLC कॊ 鐄 यॊ ऺंो埠�⤈ अथ� ऻॖ?

System Data Life Cycle / ोऺ टम डॕटॊ लॊइफ ऺॊइोकल

Software Development Life Cycle / ऺॗ︉शॕयर डॕशलपम雀�ट लॊइफ ऺॊइोकल

System Domain Link Control / ोऺ टम डख़मॕन ोलंक कंट휀� ख़ल

None of the above / उपरख़鐄 त म雀� ऺॕ कख़ई नऻॎ ं

Correct Answer :­Software Development Life Cycle / ऺॗ︉शॕयर डॕशलपम雀�ट लॊइफ ऺॊइोकल 

5)

Question Stimulus :­

In MS Word, “Ctrl + Left Arrow” is used to / MS Word म雀� “Ctrl + Left Arrow”  कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ ­

Moǀes the Đursor ďegiŶŶiŶg of the liŶe / क �ऺर कख़ लॊइन कॕ आरंभ म雀� पᄅंचॊनॕ कॕ ोलए

Moǀes the Đursor oŶe ǁord le� / क �ऺर कख़ एक षЃ द कॕ बॊई ंओर पᄅंचॊनॕ कॕ ोलए

Moǀes the Đursor oŶe paragraph up / क �ऺर कख़ एक पॖरॊ瀅ॊफ ऊपर पᄅंचॊनॕ कॕ ोलए

Moǀes the Đursor oŶe paragraph doǁŶ / क �ऺर कख़ एक पॖरॊ瀅ॊफ नॎचॕ पᄅंचॊनॕ कॕ ोलए

Correct Answer :­Moǀes the Đursor oŶe ǁord le� / क �ऺर कख़ एक षЃ द कॕ बॊई ंओर पᄅंचॊनॕ कॕ ोलए 

6)

Question Stimulus :­

In MS­DOS, LINUX and UNIX what does the command ‘whoami’ print on your display screen? / MS­DOS,
LINUX तथॊ UNIX म雀�, कमॊंड ‘whoami’ आपकॎ  㼇ॎन पर 鐄 यॊ ोᨅंट करतॎ ऻॖ?

Prints the IP address of your system / आपकॕ ोऺ टम कॊ IP ए訅휀� ॕऺ ोᨅंट करतॊ ऻॖ

Prints the userids of all the users logged in / लॗग इन ोकए ᄅए ऺम त ᨅयख़鐄 तॊओ ंकॎ यॐिर आइडॎ ोᨅंट करतॊ ऻॖ

Prints the effective userid of logged in user / लॗग इन ोकए ᄅए ᨅयख़鐄 तॊ कॎ ᨅभॊशॎ यॐिर आइडॎ ोᨅंट करतॊ ऻॖ

There is no such command / ऐऺॎ कख़ई कमॊंड नऻॎ ंऻॖ

Correct Answer :­Prints the effective userid of logged in user / लॗग इन ोकए ᄅए ᨅयख़鐄 तॊ कॎ ᨅभॊशॎ यॐिर आइडॎ
ोᨅंट करतॊ ऻॖ 

7)

Question Stimulus :­

In Linux, what command is used with vi editor to replace text from cursor to right? / ोलन鐄 ऺ  म雀�, vi
एडॎटर कॕ ऺॊथ ोकऺ कमॊंड कॊ उपयख़ग टॕ鐄  ट कख़ क �ऺर ऺॕ दॊईं ओर ᨅोत थॊोपत करनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ?

Upper Case (S)

Lower Case (s)



Upper Case (R)

Lower Case (r)

Correct Answer :­Upper Case (R) 

8)

Question Stimulus :­

WhiĐh of the folloǁiŶg is ĐorreĐt to set ͞BlaĐk͟ Đolor as BaĐkgrouŶd of page iŶ HTML? / HTML पॕज कॕ बॖक瀅ॊउंड कॕ
䐈प म雀� ͞BlaĐk͟ रंग कख़ ऺॕट करनॕ कॕ ोलए ोन㸃 न म雀� ऺॕ कग़न ऺॊ ोशकئى प ऺऻॎ ऻॖ?

<ďodǇ ďgĐolor = ͞#ϬϬϬϬϬϬ͟>

<ďodǇ ďaĐkgrouŶd = ͞#ϬϬϬϬϬϬ͟>

<ďodǇ BaĐkgrouŶd Đolor = ͞#ϬϬϬϬϬϬ͟>

<Đolor = ͞#ϬϬϬ͟>

Correct Answer :­<ďodǇ ďgĐolor = ͞#ϬϬϬϬϬϬ͟> 

9)

Question Stimulus :­

IŶ MS‐DOS, ǁhiĐh ĐoŵŵaŶd is used to see the suď‐direĐtorǇ struĐture of driǀe? / MS‐DOS म雀�, ड휀� ॊइश कॕ ऺब­
डॊइरॕ鐄 टरॎ  ट휀� 鐄 चर कख़ दॕखनॕ कॕ ोलए ोकऺ कमॊंड कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

Tree

List

Subdir

subtree

Correct Answer :­Tree 

10)

Question Stimulus :­

In MS Word (ver. 2007 onwards) what allows you to link to other parts of the same document, connecting text
in one topic to another topic or bookmark? / MS Word (शि�न 2007 तथॊ इऺऺॕ आगॕ शॊलॕ) म雀�, आपकख़ ोन㸃 न म雀� ऺॕ
鐄 यॊ एक टॗोपक कॕ टॕ鐄  ट कख़ अ� य टॗोपक यॊ बॏकमॊक�  ऺॕ कनॕ鐄 ट करतॕ ᄅए एक ऻॎ ड鐄 यॐम雀�ट कॕ अ� य भॊगख़ ंऺॕ ोलंक
करनॕ कॎ  ॏऺ ोशधॊ दॕतॊ ऻॖ?

Hyperlink / ऻॊइपरोलंक

Cross­reference / 㼇ॗऺ­रॕफर雀�ऺ

Index / इंडॕ鐄 ऺ

Table of contents / टॕबल ऑफ कंटॕ� ट्ऺ

Correct Answer :­Cross­reference / 㼇ॗऺ­रॕफर雀�ऺ 



11)

Question Stimulus :­

Which of the following describe router functions? / ोन㸃 न म雀� ऺॕ 鐄 यॊ रॊउटर फं鐄 षंऺ कॊ शण�न करतॊ ऻॖ?

PaĐket sǁitĐhiŶg / पॖकॕट 瘂उोचंग

PaĐket filteriŶg / पॖकॕट ोफئى ट瘂रंग

IŶterŶetǁork ĐoŵŵuŶiĐa埛�oŶ / इंटरनॕटशक�  क㸃 यॏोनकॕषन

All of the aďoǀe / उपरख़鐄 त ऺभॎ

Correct Answer :­All of the aďoǀe / उपरख़鐄 त ऺभॎ 

12)

Question Stimulus :­

With respect to a network interface card, the term 10/100 refers to / नॕटशक�  इंटरफॕऺ कॊड� कॕ ऺंबंध म雀�, षЃ द
10/100 कॊ ऺंबंध ोन㸃 न ऺॕ ऻख़तॊ ऻॖ ­

protocol speed / ᨅख़टख़कॗल  पॎड

a fiber speed / फॊइबर  पॎड

megabits per seconds / मॕगॊबॊइट्ऺ ᨅोत ऺॕकंड

minimum and maximum server speed / � यॐनतम तथॊ अोधकतम ऺश�र  पॎड

Correct Answer :­megabits per seconds / मॕगॊबॊइट्ऺ ᨅोत ऺॕकंड 

13)

Question Stimulus :­

What does the passive command provide to dynamic routing protocols? / पॖोऺश कमॊंड डॊयनॕोमक रॊउोटंग
ᨅख़टख़कॗئى ऺ  कख़ 鐄 यॊ ᨅदॊन करतॎ ऻॖ?

Stops aŶ iŶterfaĐe froŵ seŶdiŶg or reĐeiǀiŶg periodiĐ dǇŶaŵiĐ updates. / इंटरफॕऺ कख़ पॎ瘂रयॗोडक डॊयनॕोमक
अपडॕट्ऺ ᨅॕोहत करनॕ यॊ ᨅॊ त करनॕ ऺॕ रख़कतॎ ऻॖ।

Stops aŶ iŶterfaĐe froŵ seŶdiŶg periodiĐ dǇŶaŵiĐ updates ďut Ŷot froŵ reĐeiǀiŶg updates. / इंटरफॕऺ कख़
पॎ瘂रयॗोडक डॊयनॕोमक अपडॕट्ऺ ᨅॕोहत करनॕ ऺॕ रख़कतॎ ऻॖ लॕोकन ᨅॊ त करनॕ ऺॕ नऻॎ।ं

Stops the router froŵ reĐeiǀiŶg aŶǇ dǇŶaŵiĐ updates. / रॊउटर कख़ कख़ई भॎ डॊयनॕोमक अपडॕट ᨅॊ त करनॕ ऺॕ
रख़कतॎ ऻॖ।

Stops the router froŵ seŶdiŶg aŶǇ dǇŶaŵiĐ updates. / रॊउटर कख़ कख़ई भॎ डॊयनॕोमक अपडॕट ᨅॕोहत करनॕ ऺॕ
रख़कतॎ ऻॖ।

Correct Answer :­Stops aŶ iŶterfaĐe froŵ seŶdiŶg periodiĐ dǇŶaŵiĐ updates ďut Ŷot froŵ reĐeiǀiŶg updates. /
इंटरफॕऺ कख़ पॎ瘂रयॗोडक डॊयनॕोमक अपडॕट्ऺ ᨅॕोहत करनॕ ऺॕ रख़कतॎ ऻॖ लॕोकन ᨅॊ त करनॕ ऺॕ नऻॎ।ं 

14)

Question Stimulus :­



Which of the following is not a Slide show presentation program? / ोन㸃 न म雀� ऺॕ 鐄 यॊ  लॊइड षख़ ᨅख़瀅ॊम नऻॎ ंऻॖ?

MS Powerpoint / एम.एऺ. पॗशर शॊइंट

Keynote / कॎनख़ट

Google Slides / गॐगल  लॊइड्ऺ

Safari / ऺफॊरॎ

Correct Answer :­Safari / ऺफॊरॎ 

15)

Question Stimulus :­

HTML is used to create _______. / HTML कॊ उपयख़ग ________ ो㼇एट करनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ।

machine language program / मषॎन ल�괂 शॕज ᨅख़瀅ॊम

high level program / ऻॊई लॕशल ᨅख़瀅ॊम

web page / शॕब पॕज

web server / शॕब ऺश�र

Correct Answer :­web page / शॕब पॕज 

16)

Question Stimulus :­

IŶ LiŶuǆ, ǁhat ĐoŵŵaŶd is Ŷot used to list the files ĐhapϬϭ, ĐhapϬϮ aŶd ĐhapϬ4? / ोलन鐄 ऺ  म雀�, फॊइئى ऺ  ĐhapϬϭ,
ĐhapϬϮ तथॊ ĐhapϬ4 कख़  ॐऺचॎब蔇 करनॕ कॕ ोलए ोकऺ कमॊंड कॊ उपयख़ग नऻॎ ंोकयॊ जॊतॊ ऻॖ?

ls Đhap*

ls Đhap[ϭϮ4]

ls ‐ ǆ ĐhapϬ[ϭϮ4]

ls ĐhapϬ[ϭϮ4]

Correct Answer :­ls Đhap[ϭϮ4] 

17)

Question Stimulus :­

WhiĐh area iŶ aŶ eǆĐel ϮϬϬ7 ǁiŶdoǁ alloǁs eŶteriŶg ǀalues aŶd forŵulas? / EǆĐel ϮϬϬ7 ोशंडख़ म雀� ोकऺ ए瘂रयॊ म雀�
शॖئى यॐि और ूॗमॐ�लॕ एंटर ोकए जॊतॕ ऻ�?

Title Bar / टॊइोटल बॊर

Menu Bar / मॕनॐ बॊर

Formula Bar / फॗमॐ�लॊ बॊर

Standard Toolbar /  ट�डड� टॐ लबॊर



Correct Answer :­Formula Bar / फॗमॐ�लॊ बॊर 

18)

Question Stimulus :­

What is an e­mail server? / ई­मॕल ऺश�र 鐄 यॊ ऻख़तॊ ऻॖ?

It is a software application for requesting, traversing and presenting information resources available on the
World Wide Web on your computer. / यऻ शئى ड� शॊइड शॕब पर उपलЃ ध इ� फॗम雀�षन 瘂रऺख़ 雀ऺ�ि कॎ आपकॕ क㸃  यॐटर
पर 瘂र鐄 शॕ瘂�ंग, ट휀� ॖशो �ऺग तथॊ ᨅि雀�टॕषन कॕ ोलए ऺॗ︉शॕयर ए लॎकॕषन ऻॖ

It is a program that delivers web pages in response to web requests over HTTP / यऻ एक ᨅख़瀅ॊम ऻॖ जख़
HTTP पर कॎ जॊनॕ शॊलॎ शॕब 瘂र鐄 शॕ ट्ऺ कॕ ᨅोतउ戂 तर म雀� शॕब पॕज ोडलॎशर करतॊ ऻॖ

It is an electronic post office for email / यऻ ई­मॕल कॕ ोलए एक इलॕ鐄 ट휀� ॗोनक पख़ ट ऑोफऺ ऻख़तॊ ऻॖ

None of the above / उपरख़鐄 त म雀� ऺॕ कख़ई नऻॎ ं

Correct Answer :­It is an electronic post office for email / यऻ ई­मॕल कॕ ोलए एक इलॕ鐄 ट휀� ॗोनक पख़ ट ऑोफऺ ऻख़तॊ ऻॖ 

19)

Question Stimulus :­

Which of the following statements defines a mainframe computer? / ोन㸃 न म雀� ऺॕ कग़न ऺॊ ोशशरण, मॕन瘇ॕम
क㸃  यॐटर कख़ प瘂रभॊोहत करतॊ ऻॖ?

It is a system mainly employed in large organizations for mission critical applications requiring high
volumes of data processing / यऻ ोऺ टम मॏ刅 य 䐈प ऺॕ बीॕ ऺंगठनख़ ंम雀� ो㼇ोटकल ए लॎकॕषंऺ कॕ ᨅयख़जन कॕ ोलए लगॊयॊ
जॊतॊ ऻॖ ोजऺम雀� भॊरॎ मॊ�ॊ म雀� डॊटॊ ᨅॗऺॕोऺंग कॎ आश䰄 यकतॊ ऻख़तॎ ऻॖ

It is the fastest computer that is available at a given point in time. They are most expensive and are used
for high level mathematical calculations / यऻ ऺशॊ�ोधक तॕज क㸃  यॐटर ऻॖ जख़ ोनो埯�त ऺमय पर उपलЃ ध ऻख़तॊ ऻॖ। यॕ बᄅत
मऻंगॕ ऻख़तॕ ऻ� तथॊ भॊरॎ  तर पर कॎ जॊनॕ शॊलॎ गोणतॎय गणनॊओ ंकॕ ोलए ᨅयॏ鐄 त ऻख़तॕ ऻ�।

It is a system which controls an environment by receiving data, processing them, and returning the
results sufficiently quickly within a specified time constraint / यऻ एक ऐऺॊ ोऺ टम ऻख़तॊ ऻॖ जख़ डॊटॊ ᨅॊ त करनॕ,
उऺॕ ᨅॗऺॕऺ करनॕ तथॊ ोनोद�  ट ऺमयॊशोध कॕ भॎतर पयॊ� त तॕजॎ कॕ ऺॊथ प瘂रणॊम ᨅदॊन करकॕ मॊऻग़ल कख़ ोनयंो�त करतॊ ऻॖ

All of the above / उपरख़鐄 त ऺभॎ

Correct Answer :­It is a system mainly employed in large organizations for mission critical applications
requiring high volumes of data processing / यऻ ोऺ टम मॏ刅 य 䐈प ऺॕ बीॕ ऺंगठनख़ ंम雀� ो㼇ोटकल ए लॎकॕषंऺ कॕ ᨅयख़जन कॕ
ोलए लगॊयॊ जॊतॊ ऻॖ ोजऺम雀� भॊरॎ मॊ�ॊ म雀� डॊटॊ ᨅॗऺॕोऺंग कॎ आश䰄 यकतॊ ऻख़तॎ ऻॖ 

20)

Question Stimulus :­

You want to find out which users are currently using a specific directory on a Windows NT Server
computer. How should you do this? / आप यऻ पतॊ लगॊनॊ चॊऻतॕ ऻ� ोक Windows NT Server क㸃  यॐटर पर इऺ
ऺमय कग़न ऺॕ ᨅयख़鐄 तॊ ोशोष  ट डॊइरॕ鐄 टरॎ कॊ उपयख़ग कर रऻॕ ऻ�। आप ऐऺॊ कॖऺॕ कर雀�गॕ?

Use WiŶdoǁs NT Eǆplorer / WiŶdoǁs NT Eǆplorer कॕ उपयख़ग ህॊरॊ

Use Disk AdŵiŶistrator / Disk AdŵiŶistrator कॕ उपयख़ग ህॊरॊ

Use Serǀer MaŶager / Serǀer MaŶager कॕ उपयख़ग ህॊरॊ



Use User MaŶager for DoŵaiŶs / DoŵaiŶs कॕ ोलए User MaŶager कॕ उपयख़ग ህॊरॊ

Correct Answer :­Use Serǀer MaŶager / Serǀer MaŶager कॕ उपयख़ग ህॊरॊ 

21)

Question Stimulus :­

Which protocol is used to send a destination network unknown message back to originating hosts? /
ोकऺ ᨅख़टख़कॗल कॊ उपयख़ग डॕ瘂�नॕषन नॕटशक�  अ쀅ॊत ऺंदॕष कख़ शॊपऺ मॐल ऻख़ ट कॕ पॊऺ ᨅॕोहत करनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ?

TCP

ARP

ICMP

BootP

Correct Answer :­ICMP 

22)

Question Stimulus :­

Where ĐaŶ Ǉou fiŶd the horizoŶtal split ďar oŶ MS Word ϮϬϬ7 sĐreeŶ? / आप MS Word ϮϬϬ7 कॎ  㼇ॎन पर ऻख़瘂रजंटल
瘂절ट बॊर कऻॊं पॊ ऺकतॕ ऻ�?

OŶ the le� of horizoŶtal sĐroll ďar / ऻख़瘂रजंटल  㼇ॗल बॊर कॕ बॊई ंओर

OŶ the right of horizoŶtal sĐroll ďar / ऻख़瘂रजंटल  㼇ॗल बॊर कॕ दॊई ंओर

OŶ the top of ǀer埛�Đal sĐroll ďar / शोट�कल  㼇ॗल बॊर कॕ षॎह� पर

OŶ the ďo៛�oŵ of ǀer埛�Đal sĐroll ďar / शोट�कल  㼇ॗल बॊर कॎ तलॎ म雀�

Correct Answer :­OŶ the top of ǀer埛�Đal sĐroll ďar / शोट�कल  㼇ॗल बॊर कॕ षॎह� पर 

23)

Question Stimulus :­

The Memory Buffer Register (MBR) ____________. / मॖमख़रॎ बफर रोज टर (MBR) __________ ।

is a hardǁare ŵeŵorǇ deǀiĐe ǁhiĐh deŶotes the loĐa埛�oŶ of the ĐurreŶt iŶstruĐ埛�oŶ ďeiŶg eǆeĐuted. / एक
ऻॊड�शॕयर मॖमख़रॎ ोडशॊइऺ ऻॖ जख़ कॊयॊ�瘂�त ऻख़ रऻॕ शत�मॊन ोनद雀�ष कॎ लख़कॕषन कख़ ोनोद�  ट करतॊ ऻॖ।

is a group of eleĐtriĐal ĐirĐuits ;hardǁareͿ, that perforŵs the iŶteŶt of iŶstruĐ埛�oŶs fetĐhed froŵ ŵeŵorǇ. /
इलॕ瘂렉휀� क ऺोक� ट्ऺ (ऻॊड�शॕयर) कॊ 瀅ॏप ऻख़तॊ ऻॖ जख़ मॖमख़रॎ ऺॕ आनॕ शॊलॕ उ� मॏख ोनद雀�षख़ ंकॊ अनॏपॊलन करतॊ ऻॖ।

ĐoŶtaiŶs the address of the ŵeŵorǇ loĐa埛�oŶ that is to ďe read froŵ or stored iŶto. / मॖमख़रॎ लख़कॕषन कॊ
ए訅휀� ॕऺ ऻख़तॊ ऻॖ ोजऺॕ पुॊ जॊनॊ ऻख़तॊ ऻॖ और इऺम雀�  टख़र ोकयॊ जॊनॊ ऻख़तॊ ऻॖ।

ĐoŶtaiŶs a ĐopǇ of the desigŶated ŵeŵorǇ loĐa埛�oŶ speĐified ďǇ the MAR a�er a "read" or the Ŷeǁ ĐoŶteŶts
of the ŵeŵorǇ prior to a "ǁrite". / म雀� MAR ህॊरॊ "read" कॕ बॊद यॊ मॖमख़रॎ कॕ नए कंटॕ� ट्ऺ "ǁrite" ऺॕ पऻलॕ
ोनोद�  ट ोडो़ज괂 नॕटॕड मॖमख़रॎ लख़कषन कॎ कॗपॎ ऻख़तॎ ऻॖ।



Correct Answer :­ĐoŶtaiŶs a ĐopǇ of the desigŶated ŵeŵorǇ loĐa埛�oŶ speĐified ďǇ the MAR a�er a "read" or the
Ŷeǁ ĐoŶteŶts of the ŵeŵorǇ prior to a "ǁrite". / म雀� MAR ህॊरॊ "read" कॕ बॊद यॊ मॖमख़रॎ कॕ नए कंटॕ� ट्ऺ "ǁrite" ऺॕ
पऻलॕ ोनोद�  ट ोडो़ज괂 नॕटॕड मॖमख़रॎ लख़कषन कॎ कॗपॎ ऻख़तॎ ऻॖ। 

24)

Question Stimulus :­

In MS Excel 2007, to hold row and column titles in place so that they do not scroll when you scroll a
worksheet click the /  MS Excel 2007 म雀�, रख़ तथॊ कॗलम टॊइटئى ऺ  कख़  थॊन पर रख़कनॕ कॕ ोलए, ोजऺऺॕ शॕ शक� षॎट कख़
 㼇ॗल करतॕ ऺमय  㼇ॗल न ऻख़,ं ोन㸃 न म雀� ऺॕ ोकऺ पर 瘂댊क करनॊ ऻख़गॊ?

UŶfreeze paŶes ĐoŵŵaŶd oŶ the ǀieǁ taď / 䰈ॐ टॖब कॕ UŶfreeze paŶes ĐoŵŵaŶd पर

Freeze paŶes ĐoŵŵaŶd oŶ the ǀieǁ taď / 䰈ॐ टॖब कॕ freeze paŶes ĐoŵŵaŶd पर

Hide command on the ǀieǁ taď / 䰈ॐ टॖब कॕ ऻॊइड कमॊंड पर

Split command on the ǀieǁ taď / 䰈ॐ टॖब कॕ 瘂절ट कमॊंड पर

Correct Answer :­Freeze paŶes ĐoŵŵaŶd oŶ the ǀieǁ taď / 䰈ॐ टॖब कॕ freeze paŶes ĐoŵŵaŶd पर 

25)

Question Stimulus :­

What is the extension of a MS PowerPoint (ver. 2010) template file? / MS PowerPoint (शि�न 2010) टॕ㸃  लॕट
फॊइल कॊ ोश तॊर 鐄 यॊ ऻॖ?

.potx

.pptx

.pptt

.pott

Correct Answer :­.potx 

Topic:­ General Logical Reasoning
1)

Question Stimulus :­

On a certain day, when the Forex indicated that 1 USD was equal to 45 INR and 1 INR was equal to 3 Yen, I had
21,000 INR saved up with me; out of which, I purchased USD 200 and utilised the rest of the Indian currency to
buy Yen. How much Yen did I have after the transactions? / ोकऺॎ ोदन, जब फख़रॕ鈊 नॕ  ॐऺोचत ोकयॊ ोक 1 यॐ.एऺ.डॎ, 45
आई.एन.आर कॕ बरॊबर थॊ और 1 आई.एन.आर, 3 यॕन कॕ बरॊबर थॊ, तब मॕरॕ पॊऺ 21,000 आई.एन.आर बचॕ ᄅए थॕ; ोजनम雀� ऺॕ
म�नॕ 200 यॐ.एऺ.डॎ. खरॎद ोलयॕ और बॊकॎ भॊरतॎय मॏህॊ कॊ इ⌉ॕमॊल यॕन खरॎदनॕ म雀� कर ोलयॊ। लॕन­दॕन कॕ बॊद मॕरॕ पॊऺ
ोकतनॕ यॕन थॕ? 

63000 Yen / 63000 यॕन

54000 Yen / 54000 यॕन

45000 Yen / 45000 यॕन

36000 Yen / 36000 यॕन



Correct Answer :­36000 Yen / 36000 यॕन 

2)

Question Stimulus :­

The ratio of the present ages of a father and his son is 9 : 4. After five years, the
sum of their ages will be 75 years. What is the present age of the father? / ोपतॊ और
उऺकॕ बॕटॕ कॎ शत�मॊन आयॏ कॊ अनॏपॊत 9:4 ऻॖ। पॊँच शह흝� कॕ बॊद, उनकॎ आयॏ कॊ यख़ग 75 शह� ऻख़गॊ। ोपतॊ कॎ शत�मॊन
आयॏ ܊ॊ ऻॖ?

30 years / 30 शह�

35 years / 35 शह�

40 years/ 40 शह�

45 years / 45 शह�

Correct Answer :­45 years / 45 शह� 

3)

Question Stimulus :­

If eraser is called pencil, pencil is called box, box is called sharpener, sharpener is called bag, what does one
write with? / योद इरेज़र कख़ प��िसल कऻतॕ ऻ�, प��िसल कख़ बॉ� कऻतॕ ऻ�, बॉ� कख़ शाप�नर कऻतॕ ऻ�, शाप�नर कख़ बैग
कऻतॕ ऻ�, तख़ कख़ई ोकऺऺॕ ोलखतॊ ऻॖ?

Eraser / इरेज़र

Pencil / प��िसल

Box / बॉ�

Bag / बैग

Correct Answer :­Box / बॉ� 

4)

Question Stimulus :­

(160/4) × 3 + (45 × 2) ­ (90/10) × 8) ­ (49/7) × 2 = ?

128

130

124

134

Correct Answer :­124 

5)

Question Stimulus :­



Find the odd one out: / एक ोशहम कख़ 쀅ॊत कॎोजए:

Street / ऺीक

Highway / रॊजपथ

Lane / गलॎ

Station / �ॕषन

Correct Answer :­Station / �ॕषन 

6)

Question Stimulus :­

Mean of 60 observations is 66. Later, it was found that an observation 24 was
wrongly taken as 42. What is the corrected mean? /60 ᨅॕ埠�णख़ ंकॊ मॊퟧ� 66 ऻॖ। बॊद म雀�, यऻ पॊयॊ
गयॊ ोक एक ᨅॕ埠�ण 24 कख़ गलतॎ ऺॕ 42 लॕ ोलयॊ गयॊ थॊ। 
ऺंषख़ोधत मॊퟧ� ܊ॊ ऻॖ?

55

58.5

61.2

65.7

Correct Answer :­65.7 

7)

Question Stimulus :­

Tanmay started from his house and went 2 km straight. He then turned towards his
right and went 1 km. He turned again towards his right and went 1 km. If Tanmay is
north­west from his house, then in which direction did he go in the beginning? / त怈य
नॕ अपनॕ घर ऺॕ चलनॊ षॏ䐈 ोकयॊ और 2 ोकमॎ ऺॎधॕ गयॊ। ोफर शऻ अपनॎ दॊयॎ ंओर मॏीॊ और 1 ोकमॎ गयॊ। शऻ ोफर
ऺॕ अपनॎ दॊयॎ ंओर गयॊ और 1 ोकमॎ गयॊ। योद त怈य अपनॕ घर ऺॕ उर­पो埯�म ऻॖ, तख़ शऻ षॏ䐈आत म雀� ोकऺ ोदषॊ म雀�
गयॊ?

north – east / उर­पॐश�

south / दो埠�ण

south – east / दो埠�ण­पॐश�

west / पो埯�म

Correct Answer :­west / पो埯�म 

8)

Question Stimulus :­

A man starts from Mumbai and travels at a speed of 8 km/h to reach Pune in 25 hrs.
Find the distance between the two places. / एक आदमॎ मॏंबई ऺॕ चलनॊ षॏ䐈 करतॊ ऻॖ और 25 घⰉख़ ंम雀�



पॏणॕ पᄅँचनॕ कॕ ोलए 8 ोकमॎ ᨅोत घⰉॕ कॎ चॊल पर यॊ�ॊ करतॊ ऻॖ। इन दख़ थॊनख़ ंकॕ बॎच कॎ दॐ रॎ ोनकॊोलयॕ।

100 km  / 100 ोकमॎ

150 km / 150 ोकमॎ

200 km / 200 ोकमॎ

250 km/ 250 ोकमॎ

Correct Answer :­200 km / 200 ोकमॎ 

9)

Question Stimulus :­

19 × 19/19 ­ 14 + (390/10 + 11)

52

48

50

55

Correct Answer :­55 

10)

Question Stimulus :­

A bag contains Rs. 210 in the form of one­rupee coins, 50 Paise coins and 25 Paise coins in the ratio 3 : 5 : 6. The
number of 25 Paise coins in the bag is: / एक बॖग म雀� 210䐈 ऻ� ोजऺम雀� ऺॕ एक­䐈पयॕ कॕ ोऺ팋ख़,ं 50 पॖऺॕ कॕ ोऺ팋ख़ ंऔर 25
पॖऺॕ कॕ ोऺ팋ख़ ंकॊ अनॏपॊत, 3 : 5 : 6 ऻॖ। बॖग म雀� 25 पॖऺॕ कॕ ोऺ팋ख़ ंकॎ ऺं꜊ॊ ऻख़गॎ: 

30

90

150

180

Correct Answer :­180 

11)

Question Stimulus :­

Tap A fills a tank in four hours, and Tap B empties the same tank in six hours. When
both of the taps are opened together, the tank will be filled up within: / नल A ट�क कख़ चॊर
घⰉख़ ंम雀� भरतॊ ऻॖ, और नल B उऺॎ ट�क कख़ छऻ: घⰉख़ ंम雀� खॊलॎ करतॊ ऻॖ। जब दख़नंख़ नलख़ ंकख़ एक ऺॊथ खख़लतॕ ऻ�, तख़
ट�क इतनॎ दॕर म雀� पॐरॊ भर जॊयॕगॊ:

12 hr / 12 घंटॕ

15 hr / 15 घंटॕ



18 hr / 18 घंटॕ

21 hr  / 21 घंटॕ

Correct Answer :­12 hr / 12 घंटॕ 

12)

Question Stimulus :­

Complete the series choosing the missing letter/s: / लॏ⤈ अ埠�र चॏनकर ៦ं॑�खलॊ कख़ पॐरॊ कॎोजए: 

ba__b__a__a__

a, a, a, b

b, a, a, a

a, b, a, a

a, a, b, a

Correct Answer :­a, a, b, a 

13)

Question Stimulus :­

What is the third alphabet after the third vowel in the alphabet series? / अ埠�र ៦ं॑�खलॊ म雀�
तॎऺरॕ उर कॕ बॊद तॎऺरॊ अ埠�र कग़न ऺॊ ऻॖ?

K

L

M

N

Correct Answer :­L 

14)

Question Stimulus :­

If a line, 10 cm long, is divided in the ratio 3 : 5, then, the lengths of two resulting
lines will be: / योद 10 ऺॕमॎ ल興ॎ एक रॕखॊ, कख़ 3:5 कॕ अनॏपॊत म雀� ोशभॊोजत कर雀� , तख़ दख़ प瘂रणॊोमत रॕखॊओ ंकॎ
ल興ॊइयॊँ ऻख़गॎ:

6.5 cm, 3.5 cm / 6.5 ऺॕमॎ, 3.5 ऺॕमॎ

6 cm, 4 cm / 6 ऺॕमॎ, 4 ऺॕमॎ

5.75 cm, 4.25 cm/ 5.75 ऺॕमॎ, 4.25 ऺॕमॎ

6.25 cm, 3.75 cm / 6.25 ऺॕमॎ, 3.75 ऺॕमॎ

Correct Answer :­6.25 cm, 3.75 cm / 6.25 ऺॕमॎ, 3.75 ऺॕमॎ 



15)

Question Stimulus :­

(10002 ­9992 ) is equal to: / (10002 ­9992 ), इऺकॕ बरॊबर ऻॖ:

1

1,000

999

1,999

Correct Answer :­1,999 

16)

Question Stimulus :­



Correct Answer :­  

17)

Question Stimulus :­

The series given below contains a sequence of numbers. Identify the incorrect
combination: / नॎचॕ दॎ गई ៦ं॑�खलॊ म雀� अ埠�र और ऺं꜊ॊएं 㼇म म雀� उप瘂थत ऻ�। गलत ऺंयख़जन पऻचॊोनयॕ:
0, 2, 6, 12, 20, 30, 44

44

20

12

0

Correct Answer :­44 

18)

Question Stimulus :­

If PLUTO is coded PTULO, then how is EXIST coded? / यिद PLUTO कख़ PTULO ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ, तख़
EXIST कख़ कॖऺॕ कख़ोडत ोकयॊ जॊएगॊ?

STIXE

ETXSI

ESIXT

SITEX

Correct Answer :­ESIXT 

19)

Question Stimulus :­

The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / नॎचॕ दॎ
गई ៦ं॑�खलॊ म雀� अ埠�र और ऺं꜊ॊएं 㼇म म雀� उप瘂थत ऻ�। गलत ऺंयख़जन पऻचॊोनयॕ:

i. iui6uiu6i5u8iu  ii. iui6uiu6i5u8iu      iii. iui6uiui6i5u8iu       iv. iui6uiu6i5u8iu



i

ii

iii

iv

Correct Answer :­iii 

20)

Question Stimulus :­

The least number that must be subtracted from 316 so that the remainder is exactly
divisible by 41 is: / शऻ ഈॐनतम ऺं꜊ॊ ोजऺॕ 316 ऺॕ घटॊयॊ जॊनॊ चॊोऻयॕ तॊोक षॕह 41 ऺॕ ोशभॊ甉 ऻख़:

23

17

29

35

Correct Answer :­29 

21)

Question Stimulus :­

If X is 90 % of Y, what percentage of Y is X? / योद X, Y कॊ 90 % ऻॖ, तख़ Y, X कॊ ोकतनॕ ᨅोतषत ऻॖ? 

101.1

190

90

111.1

Correct Answer :­111.1 

22)

Question Stimulus :­

Complete the series choosing the missing number: / लॏ⤈ ऺं꜊ॊ चॏनकर ៦ं॑�खलॊ कख़ पॐरॊ कॎोजए: 

324, 108, 36, 12, ______

4

16

8

2



Correct Answer :­4 

23)

Question Stimulus :­

If HAND is coded ICQH, then how is ZIPPER coded? / यिद HAND कख़ ICQH ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ, तख़
ZIPPER कख़ कॖऺॕ कख़ोडत ोकयॊ जॊएगॊ?

AKSTJX

AJQQFS

AJSTFS

AJQQJX

Correct Answer :­AKSTJX 

24)

Question Stimulus :­

In the series, 4 6 9 8 8 2 3 6 8 9 5 7 2 4 8 9 3 9 6 9 7 8 2 4, how many pairs of successive numbers have a
difference of 2 each? / 4 6 9 8 8 2 3 6 8 9 5 7 2 4 8 9 3 9 6 9 7 8 2 4 ៦ं॑�खलॊ म雀�, अनॏ㼇ोमत ऺं꜊ॊओ ंकॕ ोकतनॕ
यॏ漈ख़ ंकॕ बॎच 2 कॊ अंतर ऻॖ?

4

5

6

7

Correct Answer :­6 

25)

Question Stimulus :­



Correct Answer :­  

Topic:­ General Management
1)

Question Stimulus :­

Accounting standard 1 in India talks about / भॊरत म雀� लॕखॊ मॊनक 1, इऺ ोशहय म雀� 䰈ॊ꜊ॊ करतॎ ऻॖ:

Cash flow statement / नकदॎ ᨅशॊऻ ोशशरण

Disclosure of accounting policies / लॕखॊंकन नॎोतयख़ ंकॊ ᨅकटॎकरण

Depreciation accounting / मॐ䴉㼅ॊऺ लॕखॊ

Inventory valuation /  ॐऺचॎ मॐ䴉ॊंकन

Correct Answer :­Disclosure of accounting policies / लॕखॊंकन नॎोतयख़ ंकॊ ᨅकटॎकरण 

2)



Question Stimulus :­

What term is given for the details on application form that normally include a candidate’s name, date of birth,
gender, marital status, address, etc.? / आशॕदन ᨅप� पर ोशशरणख़ ंकॕ ोलए ܊ॊ षЃ द ोदयॊ जॊतॊ ऻॖ ोजऺम雀� ऺॊमॊഈ 䐈प
ऺॕ उ紈ॎदशॊर कॊ नॊम, ज怈 ोतोथ, ोलंग, शॖशॊोऻक 瘂थोत, पतॊ आोद षॊोमल ऻख़तॕ ऻ�?

Personality items / 䰈瘂촉딇 ोशहयश⌉ॏ

Work experience / कॊय� अनॏभश

Personal information / 䰈瘂촉गत जॊनकॊरॎ

Reference checks / ऺंदभ� जॊँच

Correct Answer :­Personal information / 䰈瘂촉गत जॊनकॊरॎ 

3)

Question Stimulus :­

The primary function of accounting is  / लॕखॊकरण कॊ ᨅॊथोमक कॊय�,  ___________ ऻख़तॊ ऻॖ।

Capture economic data / आोथ�क आंकीख़ ंपर क먉ॊ

Related to financial transactions / ोशॎय लॕन­दॕन ऺॕ ऺंबंोधत

Provide information for action / कॊर�शॊई कॕ ोलए जॊनकॊरॎ ᨅदॊन करनॊ

Accomplish non­economic goals / गॖर­आोथ�क ल埛�ख़ ंकख़ पॐरॊ करनॊ

Correct Answer :­Related to financial transactions / ोशॎय लॕन­दॕन ऺॕ ऺंबंोधत 

4)

Question Stimulus :­

Contingent liabilities appear in the / आक瘂搉क दॕयतॊएं, ____________म雀� ोदखॊई दॕतॎ ऻ�।

Balance sheet /  तॏलनप�

Chairman’s report / अퟧ�埠� कॎ 瘂रपख़ट�

Share holders notice / षॕयर धॊरकख़ ंकॕ नख़ोटऺ

Notes on account to balance sheet / तॏलन प� कॕ ोलए लॕखॊ पर नख़ट्ऺ

Correct Answer :­Notes on account to balance sheet / तॏलन प� कॕ ोलए लॕखॊ पर नख़ट्ऺ 

5)

Question Stimulus :­

The decision function of financial management can be broken down into the ___________ decisions. / ोशॎय
ᨅबंधन कॊ ोनण�य ᨅकॊय�, __________ ोनण�यख़ ंम雀� खंोडत ोकयॊ जॊ ऺकतॊ ऻॖ।

financing and investment only / कॕशल ोशॎयन और ोनशॕष

investment, financing, and asset management / ोनशॕष, ोशॎयन और प瘂रऺंपो ᨅबंधन



financing and dividend  only / कॕशल ोशॎयन और लॊभॊंष

capital budgeting, cash management, and credit management only / कॕशल पॐँजॎ बजट, नकदॎ ᨅबंधन और
ऋण ᨅबंधन

Correct Answer :­investment, financing, and asset management / ोनशॕष, ोशॎयन और प瘂रऺंपो ᨅबंधन 

6)

Question Stimulus :­

Which of these areas of training equips an employee to deal successfully with the problems he/she is facing? /
ᨅोष埠�ण कॕ इन 埠ॕ��ख़ ंम雀� ऺॕ, कग़न एक कम�चॊरॎ कख़ उऺकॕ/उऺकॎ ऺम㐉ॊओ ंकख़ ऺफलतॊपॐश�क ोनपटॊन करनॕ कॕ ोलए
तॖयॊर करतॊ ऻॖ?

Human Relations Training / मॊनश ऺंबंध ᨅोष埠�ण

Problem Solving Training / ऺम㐉ॊ ऺमॊधॊन ᨅोष埠�ण

Skill­based Training / कग़षल आधॊ瘂रत ᨅोष埠�ण

Management Training / ᨅबंधन ᨅोष埠�ण

Correct Answer :­Problem Solving Training / ऺम㐉ॊ ऺमॊधॊन ᨅोष埠�ण 

7)

Question Stimulus :­

Combined leverage measures the impact of change in contribution on____________. / ऺंयॏ촉 ᨅभॊशन 埠�मतॊ,
____________ पर यख़गदॊन म雀� प瘂रशत�न कॕ ᨅभॊश कॊ मॊपन करतॎ ऻॖ।

Equity capital / इ瘂㼇टॎ पॐंजॎ

Debt capital / ऋण पॐंजॎ

Capital structure / पॐंजॎ ऺंरचनॊ

EPS / ई.पॎ.एऺ

Correct Answer :­EPS / ई.पॎ.एऺ 

8)

Question Stimulus :­

Trial balance should always tally due to the rule of / इऺ ोनयम कॕ अंतग�त, ट휀� ॊयल बॖल雀�ऺ (षॕह
परॎ埠�ण) कॊ ोमलॊन ऻमॕषॊ ऻख़नॊ चॊोऻए:

All transactions are transferred to the trial balance in the end. / अंत म雀�, ऺभॎ लॕन­दॕन कख़
ट휀� ॊयल बॖल雀�ऺ (षॕह परॎ埠�ण) म雀� थॊनॊंत瘂रत कर ोदयॊ जॊतॊ ऻॖ।

Every debit has a corresponding credit. / ᨅॕक डॕोबट कॊ एक तदनॏ䐈प 㼇ॕोडट ऻख़तॊ ऻॖ।

Assets and liabilities are equal. / प瘂रऺंपो एशं दॕनदॊ瘂रयॊं बरॊबर ऻख़तॎ ऻ�।



Income and expenses have credit and debit balances. / आय एशं 䰈य कॕ 㼇ॕोडट एशं डॕोबट
बॖल雀�ऺ ऻख़तॕ ऻ�।

Correct Answer :­Every debit has a corresponding credit. / ᨅॕक डॕोबट कॊ एक तदनॏ䐈प 㼇ॕोडट ऻख़तॊ ऻॖ। 

9)

Question Stimulus :­

A bank reconciliation statement is prepared with the help of_____________. / एक ब�क ऺमॊधॊन ोशशरण कख़
_____________ कॎ ऺऻॊयतॊ ऺॕ तॖयॊर ोकयॊ जॊतॊ ऻॖ।

Bank column of the cash book and bank statement / रख़की बऻॎ कॕ ब�क कॗलम और ब�क ोशशरण

Cash column of the cash book and bank statement / रख़की बऻॎ और ब�क ोशशरण कॕ नकदॎ कॗलम

Cash column of the cash book and bank column of the cash book / रख़की बऻॎ कॕ नकदॎ कॗलम और रख़की बऻॎ
कॕ ब�क कॗलम

और रख़की बऻॎ कॕ ब�क कॗलम

Both the debit column and credit columns of the bank statement / ब�क ोशशरण कॕ दख़नख़ ंडॕोबट और 㼇ॕोडट
कॗलम

Correct Answer :­Bank column of the cash book and bank statement / रख़की बऻॎ कॕ ब�क कॗलम और ब�क
ोशशरण 

10)

Question Stimulus :­

People perform better in their jobs when they are given supportive feedback, and this comes under____________. /
लख़ग अपनॕ कॊय� म雀� बॕऻतर ᨅदष�न करतॕ ऻ�, जब उ� ऻ雀� ऺऻॊयक ᨅोतो㼇यॊ दॎ जॊतॎ ऻॖ और  शॕ ___________ कॕ अंतग�त आतॕ ऻ�।

Need for achievement / उपल瘂谈 कॎ आश쨉कतॊ

Need for power / ष瘂촉 कॎ आश쨉कतॊ

Need for affiliation / ऺंबंधन कॎ आश쨉कतॊ

None of the above / उपयॏ�촉 म雀� ऺॕ कख़ई नऻॎ ं

Correct Answer :­Need for affiliation / ऺंबंधन कॎ आश쨉कतॊ 

11)

Question Stimulus :­

Job classifications such as CEO, President, Vice­President, Executive Director are associated with
which of the following?/  नग़करॎ कॕ शग戂करण, जॖऺॕ ऺॎईओ, रॊစ휀� पोत, उपरॊစ휀� पोत, कॊय�कॊरॎ ोनदॕषक कॕ 䐈प म雀� ोन꤅ म雀�
ऺॕ ोकऺकॕ ऺॊथ जॏीॕ रऻतॕ ऻ�?

Top managers / षॎह� ᨅबंधक

Middle level managers  / मퟧ� ⌉र कॕ ᨅबंधक

Low level Managers / ोन꤅ ⌉र कॕ ᨅबंधक



Supervisors / पय�शॕ埠�कख़ ं

Correct Answer :­Top managers / षॎह� ᨅबंधक 

12)

Question Stimulus :­

Sources and uses of funds statements are examined as part of _______________ / धन श촉䰈ख़ ंकॕ उपयख़गख़ ंऔर
鄉ख़तख़ ंकख़ ___________ कॕ ोऻ∊ॕ कॕ 䐈प म雀� परॎो埠�त ोकयॊ जॊएगॊ।

A forecasting technique / एक पॐशॊ�नॏमॊोनत तकनॎक

A ratio analysis / एक अनॏपॊत ोश戊ॕहण

The preparation of the balance sheet /  तॏलन प� कॎ तॖयॊरॎ

A funds flow analysis /  ोनोध ᨅशॊऻ ोश戊ॕहण

Correct Answer :­A funds flow analysis /  ोनोध ᨅशॊऻ ोश戊ॕहण 

13)

Question Stimulus :­

The required rate of return that the debt investment must yield to protect share holders interest. / ᨅोतफल कॎ
आश쨉क दर, जख़ ोक़ ऋण ोनशॕष कख़ षॕयर धॊरकख़ ंकॕ ोऻतख़ ंकॊ ऺंर埠�ण करनॕ कॕ ोलए बनॊई जॊनॎ चॊोऻए।

Cost of equity / ई瘂㼇टॎ कॎ लॊगत

Cost of debt / ऋण कॎ लॊगत

Cost of retained earnings / बरकरॊर रखॎ कमॊई कॎ लॊगत

Cost of preference capital / शरॎयतॊ पॐंजॎ कॎ लॊगत

Correct Answer :­Cost of debt / ऋण कॎ लॊगत 

14)

Question Stimulus :­

____________  help managers develop sophisticated systems that will give better control over
information / ____________ , ᨅबंधकख़ ंकॎ प瘂र唊॑त ᨅणॊोलयॊँ ोशकोऺत करनॕ म雀� मदद करतॊ ऻॖ ोजऺऺॕ  ॐऺचनॊ पर बॕऻतर
ोनयं�ण ोमलॕगॊ।

Computer based information system / कंᰈॐटर आधॊ瘂रत  ॐऺचनॊ ᨅणॊलॎ

Inventory control system /  ॐऺचॎ ोनयं�ण ᨅणॊलॎ

Budgetary Control system / बजटॎय ोनयं�ण ᨅणॊलॎ

Quality Control system / गॏणशॊ ोनयं�ण ᨅणॊलॎ

Correct Answer :­Computer based information system / कंᰈॐटर आधॊ瘂रत  ॐऺचनॊ ᨅणॊलॎ 

15)



Question Stimulus :­

Capital expenditure will be reflected in / पॐँजॎगत 䰈य, ________ म雀� प瘂रलो埠�त ऻख़गॊ।

Trading account / 䰈ॊपॊर खॊतॕ

Profit and loss account / लॊभ एशं ऻॊोन खॊतॕ

Profit and loss appropriation account / लॊभ एशं ऻॊोन ोशोनयख़जन खॊतॕ

Balance sheet / बॖल雀�ऺ षॎट (तॏलन प�)

Correct Answer :­Balance sheet / बॖल雀�ऺ षॎट (तॏलन प�) 

16)

Question Stimulus :­

Who introduced the formula for determining optimum span of control? / ोनयं�ण ोश⌉॑ोत कख़ ोनधॊ�瘂रत करनॕ कॊ
ॐऺ� ोकऺनॕ ᨅ⌉ॏत ोकयॊ?

Bartol and Martin / बॊट�ल और मॊोट�न

Hick and Gullett / ोऻक और गॏलॕ

V.A.Graicunas / शॎ.ए 瀅ॕ܊ॐनॊऺ

Normon Horton / नॗम흝�न ऻॗट�न

Correct Answer :­V.A.Graicunas / शॎ.ए 瀅ॕ܊ॐनॊऺ 

17)

Question Stimulus :­

Which of the following is not true? / ोन꤅ म雀� ऺॕ कग़न ऺॊ कथन ऺऻॎ नऻॎ ंऻॖ ?

Money values decreases with time due to inflation / मॏህॊ踋ॎोत कॎ शजऻ ऺॕ ऺमय कॕ ऺॊथ मॏህॊ कॊ मॐ䴉 कम
ऻख़ जॊतॊ ऻॖ।

Individuals prefer to consume now rather than in the future because of decrease in money value / मॏህॊ
मॐ䴉 म雀� कमॎ कॕ कॊरण 䰈瘂촉, भोशᰈ कॎ तॏलनॊ म雀� शत�मॊन म雀� उपभख़ग करनॊ पऺंद करतॊ ऻॖ।

Money does not have time value / मॏህॊ कॊ कॊलॊंतरॊल मॊन नऻॎ ंऻख़तॊ ऻॖ।

Value of money is different at different point of time / पॖऺॕ कॊ मॐ䴉, अलग­अलग ऺमय ोबंदॏओ ंपर अलग­
अलग ऻख़तॊ ऻॖ।

Correct Answer :­Money does not have time value / मॏህॊ कॊ कॊलॊंतरॊल मॊन नऻॎ ंऻख़तॊ ऻॖ। 

18)

Question Stimulus :­

Which of the following is a source of funds? / ोन꤅ोल瘂खत म雀� ऺॕ कग़न ऺॊ ोनोध कॊ 섆ख़त ऻॖ?

Sale of building only / कॕशल इमॊरत कॎ ोब㼇ॎ



Issue of shares only / कॕशल षॕयर जॊरॎ करनॊ

Term loan borrowed only / कॕशल ोलयॊ ᄅआ ऺॊशोध ऋण

All of the above / उपरख़촉 ऺभॎ

Correct Answer :­All of the above / उपरख़촉 ऺभॎ 

19)

Question Stimulus :­

 A unique symbol that is part of a brand is referred to as / एक अनॐठॊ ᨅतॎक, जख़ ोक 䐅ॊंड कॊ एक ोऻ ऺ ॊ ऻख़तॊ
ऻॖ, ________ कॕ 䐈प म雀� जॊनॊ जॊतॊ ऻॖ।

Brand name /  䐅ॊंड नॊम

Brand mark /  䐅ॊंड ोनषॊन

Logo /  लख़गख़

Patent / पॕट雀�ट

Correct Answer :­Logo /  लख़गख़ 

20)

Question Stimulus :­

___________ refers to the expected results of a given future period in numerical terms / ___________
,ऺं꜊ॊᰈक पदख़ ंम雀� दॎ गई भोशᰈ अशोध कॕ अपॕो埠�त प瘂रणॊमख़ ंकख़ ऺंदोभ�त करतॕ ऻ�।

Projects / प瘂रयख़जनॊएं

Budgets / बजट

Programs / कॊय�㼇म

Procedures / कॊय�­ोशोधयॊँ

Correct Answer :­Budgets / बजट 

21)

Question Stimulus :­

When a buyer buys a share from the seller on Ex­dividend date, who will receive the dividend? / जब कख़ई
㼇ॕतॊ, लॊभॊंष रोऻत ोदनॊंक पर ोकऺॎ ोश㼇ॕतॊ ऺॕ षॕयर खरॎदतॊ ऻॖ, तख़ कग़न लॊभॊंष ᨅॊ⤈ करॕगॊ?

Buyer / 㼇ॕतॊ

Broker / दलॊल

Both buyer and broker / 㼇ॕतॊ और दलॊल दख़नख़ ं

Seller / ोश㼇ॕतॊ



Correct Answer :­Seller / ोश㼇ॕतॊ 

22)

Question Stimulus :­

In which of these individual evaluation methods is the evaluator asked to describe the strong and weak aspects
of an employee’s behaviour? / इनम雀� ऺॕ  य瘂촉गत मॐ䴉ॊंकन गोतोशोधयख़ ंम雀� ऺॕ ोकऺम雀� मॐ䴉ॊंकनकतॊ� कख़ कम�चॊरॎ कॕ
䰈शऻॊर कॕ ᨅबल एशं कमिख़र पऻलॐओ ंकख़ शण�न करनॕ कॕ ोलए कऻॊ जॊतॊ ऻॖ?

Management by objectives (MBO) / उ䬅ॕ쨉ख़ ंकॕ ህॊरॊ ᨅबंधन ;MBOͿ

Essay evaluation / ोनबंध मॐ䴉ॊंकन

Forced choice / जबरन पऺंद

Graphic rating scale / 瀅ॊोफक रॕोटंग मॊपनॎ

Correct Answer :­Essay evaluation / ोनबंध मॐ䴉ॊंकन 

23)

Question Stimulus :­

___________ management style is characterized by low concern for people and low concern for production /
___________ ᨅबंधन षॖलॎ, उ戂 पॊदन कॕ ᨅोत ोन㸃 न ऺरख़कॊर और लख़गख़ ंकॕ ᨅोत ोन㸃 न ऺरख़कॊर कॕ ህॊरॊ अोभलो埠�त कॎ
जॊतॎ ऻॖ।

Laissez Faire /  अबंधतॊ (अऻ⌉埠ॕ�पॎ)

Democratic / लख़कतं�ॎय

Autocratic / एकतं�ॎय 

Benevolent / लॊभदॊयॎ

Correct Answer :­Laissez Faire /  अबंधतॊ (अऻ⌉埠ॕ�पॎ) 

24)

Question Stimulus :­

_______ person tends to be objective, analytical and impersonal in decision and judgements. / _______ 䰈瘂촉,
फॖऺलॕ और ोनण�य लॕनॕ म雀�, श⌉ॏोन  ठ, ोश戊ॕहणॊᰈक और अशॖय瘂촉क ऻख़ जॊतॊ ऻॖ।

SeŶsiŶg / ऺंशॕदनषॎल

IŶtui埛�oŶ / ऺऻजबख़ध

ThiŶkiŶg / ोचंतनषॎल

Feeling /  भॊशनॊᰈक

Correct Answer :­ThiŶkiŶg / ोचंतनषॎल 

25)

Question Stimulus :­



Which of the following is a source of funds? / ोन꤅ोल瘂खत म雀� ऺॕ कग़न ऺॊ धन कॊ 섆ख़त ऻॖ?

Sale of building only / कॕशल इमॊरत कॎ ोब㼇ॎ

Issue of shares only / कॕशल षॕयर जॊरॎ करनॊ

Term loan borrowed only / कॕशल ोलयॊ ᄅआ ऺॊशोध ऋण

All of the above / उपरख़촉 ऺभॎ

Correct Answer :­All of the above / उपरख़촉 ऺभॎ 


